\ LY *uim# \ f iz‘ g::l\A ~,
gE (RIS DERT | msmms e B o |t
FS U a5 020101 |BUAZA G 420 85.23
HEE | BN 020101 |BUARZK TR 407 82.80
R 2 020101 |[BUAZ 409 81.70
T 020102 |&pc AT 405 81.32
Joi 4= e 020103 |&3% s 438 86.93
SIHWY (LT ER 020104 |P5 7455 427 85.86
MRE &Rk 020104 |75 )5 4552 420 85.21
AL S e o 020105 [t A4 5 400 82.97
THRIR B 5k 020106 | A, &VES5HEIL G 401 81.34
Bk 20 020201 RAGF 403 83.10
IH- 5 e 020202 |XIRZA 55 406 82.08
AL | 20 B 020203 |2 403 82.69
R I o 020204 |4&:fha 415 84.10
s e 020204 |4&fh 417 83.27
EE Y e a 020204 |&:fh 370 73.29 |/DRAG TR
NES =TT 020204 |&fh 363 72.24 |IBBEREA L Feibkl
BAEE | BBERE 020205 |~k et 403 82.95
L E I Y e a ok 020205 |r=Nb&t Gt 403 82.23
R e 020206 B2 5 2 417 85.31
B |5 ERE 020206 bR 5 416 84.51
FRERR |2 5rERR 020206 b 52 5 406 82.09
B 220 020206 B SR 5 402 81.95
sk | AR 020206 br 52 52 364 72.26 /DG TR
I e 020207 |5 sh& G 416 83.83
i B 020207 |55 5hZA 5 405 81.52
N e o 020209 |HmZprss 411 83.57
e L e 0202Z1 | H.JkM 4 @hes 412 83.10
T3 20 025100 |&:fib 435 88.91
NAR e 025100 |4:fit 432 87.41
ARG | w2 b 025100 |&fib 430 86.23
I Y g 025100 |4 fit 417 85.46
INEIR | B TR 025100 |&:fib 424 85.42
B 025100 |4 fit 410 84.91
5K 220 025100 |&:fib 419 84.65
YL AUk 025100 |4:@h 413 84 .21
F—5 B 025100 |&:fib 405 83.87
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" X BEIE |, FREY |9 1B |HE .
w3 PASK AV PR W ASFELE Bt e e e #=F
W (25 025100 |&:fit 4= H 412 |87.02 |83.79
U 20 025100 |&:fib 4 H%l  |414 [85.14 [83.50
XA e 025100 |&:fib 4 H4%] |416 [84.06 [83.46
FARIR | B TR 025100 |&:fib 4 H%l  |410 [86.76 [83.43
PIRFE | L5 025100 |&:fib 4 H4%]  |404 [89.22 [83.33
s e 025100 |&:fib 4= H 398 [91.58 [83.19
Wk BE |0 025100 |&:fib 4 H4%] 403 [89.10 [83.15
iR 20 025100 |&:fib 4 H%l  |403 [89.00 [83.12
e e a 025100 |&:fib 4 H4%] (405 [86.90 [82.77
FIHX | LR 025100 |&:fib 2 H%  |411 [84.00 [82.74
Ul &R 025100 |&:fib 4= H 396 [90.65 [82.64
sk AR 025100 |&:fib 4= H 395 [91.08 [82.62
X1 3H e 025100 |&:fib 4 H4%] (403 [86.71 [82.43
BAEPE |5 025100 |&:fib 4 H%l  |409 [83.38 [82.27
eI e o 025100 |&:fib 4 H%]  |400 [87.56 [82.27
e i e 025100 |&:fib 4 H%  |402 [86.08 [82.10
W | B 025100 |&:fb 4 H4%] 402 [85.18 [81.83
B | 25ER 025100 |&:fib 4 H%l  |401 [85.62 [81.83
JBi— L |5 025100 |&:fib 4= H 399 (86.20 [81.72
Fukon | B FERE 025100 |&:fib 4= H 399 [86.08 [81.68
TARE | AR 025100 |&:fib 4 H4%]  |405 [83.28 [81.68
FAess | B R 025100 |&:fib 4 H%l  |403 [84.03 [81.63
Biis | AR 025100 |&:fit 4= H 402 |84.46 |81.62
EWRL LR 025100 |&:fib 4= H i 399 [85.55 [81.53
e A e 025100 |&:fit 4= H 400 [84.96 [81.49
EMME AR 025100 |&:fib 4 H%l  |404 [83.10 [81.49
Fribte |25k 025100 |&:fib 4= H 393 (88.20 [81.48
I e 025100 |&:fib 4 H%l  |403 [83.46 [81.46
AR | BB 025100 |&:fib 4= H 399 (84.85 [81.32
i d | BT 025100 |&fib 4= H 394 [86.83 [81.21
et A ea s 025100 |&:fit 4= H 397 [85.08 [81.10
RS 220 025100 |&:fib 4= H 394 [86.08 [80.98
AvERE LR 025100 |&:fb 4= H 390 [87.84 [80.95
ME B, | AR 025100 |&:fib 4= H 387 [89.10 [80.91 [/bEE itk
S | DFERR 025100 |&:fib 4= H 386 [89.46 [80.88
RARE | B RERE 025100 |&:fib 4= H 394 [84.78 [80.59
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" X BEIE |, FREY |9 1B |HE .
w3 PASK AV PR W ASFELE Bt e e e #=F
x| B 025100 |&:fit 4= H 392 [85.30 [80.47
iR 20 025100 |&:fib 4= H 392 [85.26 [80.46
il B 025100 |&:fib 4= H 393 (84.77 [80.45
B I e o 025100 |&:fib 4= H 397 [81.94 [80.16
R I R e 025100 |&:fib 4= H 384 (87.92 [80.14
5k ¥ 20 025100 |&:fib 4= H 386 [86.44 [79.97
FRSE | AR 025100 |&:fit 4= H 391 [84.07 [79.96
frails | 4B 025100 |&:fib 4= H 396 [81.65 [79.94
5 e 025100 |&:fib 4= H 391 [83.97 [79.93
i | B TRERE 025100 |&:fib 4= H 389 [84.90 [79.93
ey I e a0 025100 |&:fib 4= H 395 [81.94 [79.88
HE |25 025100 |&:fib 4= H 389 [84.66 [79.86
T e 025100 |&:fib 4= H 387 [85.36 [79.79
15 20 025100 |&:fib 4= H 390 [83.70 [79.71
s e 025100 |&:fib 4= H 389 (83.38 [79.47
EEH BT 025100 |&:fib 4= H 390 [82.62 [79.39 |7 TR
MR (&5 025100 |&:fit 4= H 386 (83.95 [79.23 |7 yk P T
BRIEFH |5k 025100 |&:fib 4= H 388 [80.44 [78.45 [/LEE itk
EES e 025100 |&:fib 4= H 396 [79.04 [76.35 |Ikmialnitsy
R | LA 025100 |[&fh 4= H il 350 |77.26 [72.18 [iBA% K2pA4 - itk
HINE |25 025300 |Bi%% 4Hi# (410 |84.04 [82.61
FE4  |ZFER 025300 |Fi%% 4 H%  |414 [81.80 [82.50
REKEE  |A DR 025300 |Fi%% 4 H4%]  |403 [83.42 [81.45
B — | B 025300 |Fi%% 4= H i 396 [86.62 [81.43
APele | Lbr R 025300 [Fi%% 4= H il 397 |79.58 [79.45
e TS 025400 | PR 55 4 H%  |417 [90.51 [85.53
Mgk |4 TR 025400 | [F Fx 5% 4= H il 413 |90.47 |84.96
HEE |5 025400 | PR 55 42 H%  |410 [90.04 [84.41
BRME AUk 025400 | [F 7 5% 4= H il 403 [92.95 [|84.31
B |25 025400 | PR 55 4 H%l  |404 [87.27 [82.74
BHEE |2 025400 | [F 7 5% 4= H il 394 (89.21 (81.92
Ayl | B RERE 025400 | PR 55 4= H 396 [87.38 [81.65
e ST 025400 | [F P 5% 4= H il 390 [89.39 [81.42
REKR | Z TR 025400 | PR 55 4= H ) 392 [87.24 [81.05
FMT LR 025400 | Fx 5% 4= H 390 (87.52 [80.86
WITE | AR 025400 | PR 55 4= H 390 [87.34 [80.80
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" X BEIE |, FREY |9 1B |HE .
w3 PASK AV PR W ASFELE Bt e e e #=F
E e 025400 | Fx 5% 4= H 387 [88.16 [80.63
Pl 20 025400 | PR %% 4= H ) 383 [88.85 [80.28
EE ST 025400 | Fx i 5% 4= H 384 (87.34 [79.96 |TUiBH THEE:
B 20 025400 | PR %% ENEL 387 [84.61 [79.56 |7 T R
5K Tt b 030101 [|¥E33ib 4 H4%]  |407 [93.60 [86.28
B N2 B 030101 |¥EFHib 4 H%l  |401 [95.00 [86.12
Sl Pl P U 030101 [¥E2A3 it 4= H 370 [92.40 [81.36
A it Mk B 030101 |¥EFHib 4= H il 373 [90.60 [81.00
BETE et b 030103 |ZEvk= 51T HBES 4 H4%] 415 [85.50 [84.00
B T2 B 030103 |ZEvk5 51TBEY: 4 H%l  |406 [86.75 [83.42
EHH et b 030103 |ZEvk= 51THES: 4= H 394 [90.00 [83.28
FE TR P AT 030104 [fHIEE 2 HE (427 [91.25 [87.74
i N 2 B 030104 |JRIyE% 4 H4%]  |403 [83.25 [81.66
BRI DRk 030105 |EmiiEss ENEL 370 [89.33 [80.13
EWNE e 030105 |EpskeF 4= H 381 [83.33 [79.05
TR N2 B 030106 |JFiAiEE 4 H%l  |401 [85.33 [82.25
JE He ey 030106 |JFVAVEeF 4= H il 376 [91.17 [81.59
L Dtk 030106 |JFiAVE2E 4= H ) 381 [88.50 [81.12
WER PDEREER 030107 |45k 4Hi#  [424 190.25 [86.98
BUEZ  Peteikseb 030107 |&¥5rk 4= H il 410 [89.25 |84.90
RS Bt 27 T 030107 |& 5k 4= H 401 [90.00 |84.12
WEH PR 030107 |&FE 4 H%l  |416 [85.00 [83.92
AN DR 030107 |45k 4= H 334 [82.00 [72.88 [iBf% K2pd+ itk
FeiEdT PeteikiER 030109 |HFriZss 4= H ) 383 [90.50 [82.16
TERE  [DetRiEsER 030109 | i 4= H il 373 [89.17 [80.43
Bt PDeterkeER 030109 |HFriZss 4= H 398 [81.50 [80.36
S b A= 030109 |[HFrikef 4= H 384 [81.67 [78.75
B2 DR 035101 |yt (FEES) 4 H%  |405 [90.40 [84.76
GegilE  BERIEE R 035101  |yEAA (B ) 42 H%  |401 [90.20 [84.20 [iB#& K24+ iR
i A S P e o P T 035101 |yEdmit(dEE) 4 H%l  |405 [88.40 [83.96
L T P e 035101  |yEAA -+ (B ) 4 H4%]  |404 [88.60 [83.92
ZEA DR 035101 |yEdmit(FEE) 4= H 399 [90.00 [83.88
I S b PR 035101  |yEAA (B ) 4 H4%  |404 [88.20 [83.76
fEER T2 B 035101 |yEdmit(FEE) 4= H 385 [93.20 [83.48
ISR I P = 035101  |yEAAi -+ (B ) 4 H4%]  |403 [87.60 [83.40
A He Ak B 035101 |yt (FEES) ENEL 392 [90.80 [83.36
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MERIE

i

il

N 232, ety N - Dy
B R P 035101  |yEAA -+ (B ) 4 H%|] |400 [88.40 [83.36
FRT T2 B 035101 |yEdmit(FEES) 4= H 397 [89.20 [83.32
TR PDefeiksbi 035101  [yEMm+ (FE12) 4= H il 392 [90.20 [83.12
WA DRI 035101 |yt (FEES) 4 H%l  |405 [86.20 [83.08
RER DEREER 035101  |yEAA (B ) 4= H 395 [89.00 [83.00
SREER]  Peteiksabe 035101 |yt (FEES) 4= H 398 [88.00 [82.96
SR He ey 035101  [yEMm+ (dE12) 4= H il 391 [90.00 [82.92
e e P P 2 035101 |yEmit(FEE) 4 H%  |420 [81.00 [82.80
R He 2 B 035101  |[yEMm+ (dE12) 4= H il 394 [88.60 [82.72
e PRSP 035101 |yEdmit(FEES) 4= H 397 [87.60 [82.68
RETHN Dtk sb 035101  |[yEMm+ (FE12) 4= H il 398 [87.00 [82.56
AN P P 035101 |yt (FEES) 4 H%l  |405 [84.80 [82.52
W= DR 035101  |yEAA (B ) 4= H 375 [93.60 [82.44
Tk N2 B 035101 |yt (FEES) 4= H 390 [89.00 [82.40
B A i el 035101  |yEAh -+ (B ) 4= H 399 (86.20 [82.36
A nE T P S PR 035101 |yEdmit(FEE) 4= H 399 [86.00 [82.28
BEETE PR SER 035101  |[yEMm+ (FE12) 4= H il 399 [86.00 [82.28
WIEM [DeRIEEER 035101 |yEdmit(FEES) 4= H 377 [92.40 [82.20
HEMT DeteiksE 035101  |[yEMm+ (FE12) 4= H il 378 [91.80 [82.08
EIERs S P PR 035101 |yt (FEES) 42 H%  |402 [84.40 [82.00
TFRE PR 035101  |yEAA (B ) 4= H 383 [90.00 [81.96
ERIE  [DetRiEsER 035101 |yEdmit(dEE) 4= H 386 [89.00 [81.92
ik N 2 B 035101  |yEAh -+ (B ) 4= H 392 (87.20 [81.92
ATHE  [DetRiksER 035101 |vEfm L (EHEES) 4= H 397 [85.40 [81.80
Exan et b 035101  |yEAh -+ (e ) 4= H 388 [88.00 [81.76
VI T2 B 035101 |yEdmit(FEE) 4= H 368 [93.80 [81.68
M DeRIEER 035101  |yEAA -+ (B ) 4= H 372 [92.20 [81.52
FERE DR 035101 |yt (FEES) 4= H 385 [88.20 [81.48
fr] 34 N 2 B 035101  |yEAA (B ) 4= H 394 (85.40 [81.44
v S I O 035101 |yEdmit(dEE) 4= H 384 [88.20 [81.36
S S b = 035101  |[yEMm+ (dE12) 4= H il 388 [86.80 [81.28
JER  DERES R 035101 |yEdmit(FEE) 4= H 374 190.80 [81.20
IR [DEREE R 035101  |yEAA (B ) 4= H 388 [86.60 [81.20
g IR P PR 035101 |yEdmit(FEE) 4= H 391 [85.60 [81.16
Mt DR 035101  [yEMm+ (dE12) 4= H 405 [81.40 |81.16
EH etk AE R 035101 |yt (FEES) ENEL 389 [86.00 [81.08

%570,

1t

7N

157 711




" . BEIE |, FREY |9 1B |HE R
KT ek 035101  |[yEMm+ (FE12) 4= H il 386 [86.80 [81.04
e T2 B 035101 |yEdmit(FEES) 4= H 385 [87.00 [81.00
AHIBE DR 035101  |yZfmit-(dEiE) 4= H 399 (82.20 [80.76
K DR 035101 |yt (FEES) 4= H 371 [90.60 [80.76
PEHR  PDERIEFRR 035101 |yZfmit-(dEiE) 4= H 375 [89.20 [80.68
KR DR ER 035101 |yt (FEES) 4= H 386 [85.60 [80.56
KRR DLtk 035101  |yZfmit-(dEiE) 4= H 370 [90.20 [80.48 |/DEHFit%
ESret S b P 035101 [t (FEv2%) 4 H#l  |379 [87.40 [80.44
BRI PererE R 035101  |[yEMm+ (dE12) 4= H il 391 [83.80 [80.44
Y R B S PR 035101 |yEdmit(FEES) 4= H 390 [84.00 [80.40
BRI R 035101  |yZfmit-(dEiE) 4= H 379 [87.20 [80.36
BIAE  PDEEIESRR 035101 |yt (FEES) 4= H 384 [85.60 [80.32
KM [eREAER 035101  |[yEMm+ (FE12) 4= H il 374 188.20 [80.16
J7 N2 B 035101 |yt (FEES) 4= H 373 [88.20 [80.04
Sl P AP 035101  |yZfmit-(dEiE) 4= H 376 [87.00 [79.92
W=T  Pefeikiib 035101 |vEfm L (EEEE) 4 H il 387 [83.60 [79.88
RN N 2 B 035101  |yZfmit-(dEiE) 4= H 373 [87.60 [79.80
M Dkl 035101 |yEdmit(FEES) 4= H 381 [85.00 [79.72
[k N 2 B 035101  |yZfmit-(dEiE) 4= H 381 [84.80 [79.64
HEA PSR 035101 |yt (FEES) 4= H 381 [84.60 [79.56
i MY P s e U 035101  |[yEMm+ (FE12) 4= H il 391 [81.40 [79.48
wHRdl  [DeRIEAER 035101 |yEdmit(dEE) 4= H 376 [85.80 [79.44
Lk S P s e U 035101  [yEMm+ (dE12) 4= H il 373 [86.40 [79.32
PNEE DR 035101 |yEmit(FEE) 4= H 395 [79.60 [79.24
S PP 035101  |[yEMm+ (dE12) 4= H il 374 [85.80 [79.20
R P T 035101 |yEdmit(FEE) 4= H 381 [83.60 [79.16
ST DA 035101  |[yEMm+ (FE12) 4= H il 387 [81.80 [79.16
MRt DBk 035101 |yt (FEES) 4= H 374 [85.60 [79.12
TR b = 035101  |yZfmit-(dEiE) 4= H 379 [84.00 [79.08
sKEF L DR 035101  [yEMm 4 (FE1%%) 4= H il 376 |84.60 [78.96 |2 F Rkl
REL  |EEEFR 035101  |yZfmi4-(dEiE) 4= H 378 [84.00 [78.96 |kmi#lritsy
[ AVL Db 035101  [¥EAH L (JEES) 4HE (399 [77.60 [78.92 |32k
7Lk et b 035101  |yZfmi4-(dEiE) 4= H 365 [87.80 [78.92 |IkmiZalnltsy
LLEE et ER 035101  [yEm 4 (FE12%) 4= H il 394 |79.00 [78.88 [ mi2F Rkl
NG PEEES R 035101  [yEMm+ (dE12) 4= H il 373 |84.00 [78.36 |[/>EETFit%l
EL GRS 035101 |yt (FEES) ENEL 361 [81.20 [75.80 |[/bEE itk
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" . BEIE |, FREY |9 1B |HE .

gE (BREER PR mzmew T | ah o8 |@:

tRasRE PR SER 035101  |[yEMm+ (FE12) 4= H il 353 [81.20 [74.84 |iB1& K4+ iRl
’@%@gﬁ ﬁfﬁﬁfﬁ% 82218; /ﬂgigiﬁigi) igg 340 [79.00 [72.40 B KA+ deit ki
U JE YAk AE b VAL (V) | 387 [82.17 [79.31

WA DR 035102 |yEAm -+ (155) 4= H 372 [86.67 [79.31

g St 035101 | (dE2%) 4 HE 389 [88.40 |83.84 gf‘;%ﬂm Hram
ZWAE PSR 035101  |yEAh -+ (B ) E4HiE [398 [89.00 [83.36

7F P T 035101 |yEmit(FEE) 4 HE [391 [90.20 [83.00

WErErE PDERES R 035101  |yEAA -+ (e ) E4HiE (380 [86.60 [80.24

HAZE DS 035101 |yEdmit(FEES) JE4Hi# [373 [88.00 [79.96

3k e B 035101  |yEAA -+ (B ) E4HiE [367 [88.00 [79.24

HZEAR DBk aabe 035101 |yt (FEES) 4 Hi (368 [85.60 [78.40

/N RTRE R 035101  |yEAA (B ) E4HiE [367 [85.20 [78.12

RN DR 035101 |yt (FEES) E4HiE (372 [81.40 [77.20

RS e B 035101  |yEAh -+ (B ) E4HE (369 [82.20 [77.16

AR DeRE B 035101 |yEdmit(FEE) E4HiE (369 [82.00 [77.08

BRikEE  DetiiksEpe 035101  |yEAA -+ (B ) E4HE [371 [81.20 [77.00

BE Mk B 035101 |yEdmit(FEES) JE4HiE (369 [80.40 [76.44

HEFE | HEFK 040101 |# &R 4= H il 370 [90.67 [80.67

N S 040101 |# B ¥R ENEL 339 [81.25 [73.18 i KAt Ieit ki
AN R B 040102 |PRFE 5 H AR 4= H 419 |95.17 |88.35

3% 2B 040102 |5 #H#0 4= H ) 375 [88.46 [80.38

S [BE 040102 |MRFE S5 #0410 4= H 364 [90.79 [80.00

RES A e 3T 040102 |5 #H R 4= H ) 360 [91.83 [79.93

AEE | BEFR 040103 |[#HE % 4= H il 363 [86.50 [78.16

HH e 2B 040103 |# B ™ 4= H 365 [80.42 [75.97

o [HBE K 040103 |#B % 4= H 368 [78.33 [75.49

%Bﬂkﬁm iﬁﬁﬁf%} 828182 fﬁfg _ iaﬁg 325 [84.04 [72.62 i KA+ Ieit ki
iy EEAH R A EEL 396 [91.79 [84.24

5K i 2B 040104 |HbEi#E 4= H ) 371 [88.79 [80.04

AHE [HE¥R 040104 |[thEZE 4= H il 357 [91.71 [79.52

R GEESS 040104 |HLEi#E 4= H 360 [87.50 [78.20

e | BE ¥R 040106 |mEE#HH Y 4= H il 365 [88.58 [79.23

LT | A 2B 040106 |mi%#E 4= H ) 369 [86.83 [79.01

i B e 040106 |E%E#H B 4= H 384 [82.25 [78.98

ASINE | HE 2B 040106 |mi%#E 4= H 382 [82.29 [78.76
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" . BEIE |, . FREY |9 1B |HE R
BRI HE b 040106 |mEE#HH Y 4= H il 356 [84.25 [76.42
A [BE ¥ 040110 |HBHE AR 4= H ) 374 |87.42 |79.85
T HE b 040301 [HAH A &2 4= H il 411 |81.53 [|81.93
X1J 3 2B 040301 |[#AEH A\ ctto2f 4= H 374 |84.69 |78.76
KREEWE | 3E b 040301 [HAH A &2 4= H il 389 [79.34 [78.42
ERY L GES T 040301 |#AEH A\ ctto2f 4= H 372 [82.63 [77.69 |[/bEE itk
BRER  [HE 040302 |izsh NMEFE 4= H 357 [86.75 [77.54
Ev e LT 040303 |1AE #H )IZ2F 4= H 364 [83.44 |77.06
HilgE | HE ¥R 040304 |REEGIEE % 4= H 376 (79.69 [77.00
WO | HE A 045117 |Bl5HEAR#E 4= H il 428 |84.92 |85.33
Przatam | HE S 045117 [R5 HEARHUE 4= H il 400 |91.67 |84.67
AR | BEER 045117 | RIS HARHEFH 4 H#  |424 [83.54 [84.30
|EEZ) G EST 045117 |BI¥=5HAR#E 4 H4%] |404 [88.75 [83.98
BT [BE ¥ 045117 |BlES5HEARHTE 4 H%l  |403 [85.96 [82.74
K HE i 045117 [R5 HEARHUE 4= H il 402 [86.17 |82.71
A e 045117 |Rl5HEAR#T 4= H il 397 |(87.46 [82.62
Bt GRS 045117 |BI¥=5HAR#E 4 H4%] (408 [80.88 [81.31
TR e 045117 |Bl5HEAR#E 4= H il 398 (81.96 [80.54
P GRS 045201 |#A B #2~ 4= H 375 [87.66 [80.06
e e 045201 |1AH #2# ENEL 352 |78.75 [73.74
ZHE | BER 045202 |[izzhillZk 4= H il 371 |75.94 [74.90
SR [EE ¥ 045202 |izshill%: 4= H ) 323 [85.47 [72.95
XEEFE | BE %R 045202 |[izzhillZk 4= H il 319 [80.16 [70.34
I 2B 045101 |#HEEH 4 Hi [363 [92.00 [80.36
FE G EST 045101 |#BEH E4HE [378 [87.50 [80.36
B R 045101 |#HEEH JE4HiE [359 [90.50 [79.28
JH 1 GRS 045101 |#BEH E4HE [370 [87.00 [79.20
TEE  |[HE ¥k 045101 | EEH JE4Hi [361 [88.50 [78.72
afhE | EE %R 045101 |# B & H E4HE [369 [85.00 [78.28
B [ BE ¥ 045101 | EEH 4 Hi [353 [89.50 [78.16
BENL |HE N 045101 |#BEH E4Hi [364 [85.50 [77.88
LB [ 3E B 045101 |#HEEH E4Hi [358 [86.50 [77.56
WIEE | Eb 045101 |[#HBEH 4 HE [356 [86.50 [77.32
DiRE  [BE ¥ 045101 |#HEEH E4Hi [356 [85.50 [76.92
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= 120402 |HSBEY S5 DA IE R 4 Hi#  [410 [82.40 [82.16
AR [BEBR 105300 |AFL P4 4 Hil (408 [87.70 [84.04
T AT 105300 |AFL P4 E4HE [356 [87.00 [77.52
el P 24 Bt 105300 |AFL P4 E4HiE [329 [87.60 [74.52
A g 105300 |AFL P4 E4HE (341 [80.60 [73.16
i P 24 Bt 105300 |AFL P4 JE4Hi (332 [81.60 [72.48
HRMA B 105300 |AFLT4E JE4HE |354 |74.80 |72.40
wilR R 105300 |AFL P4 E4HiE [314 [85.40 [71.84
FERER [BEABR 105300 |AFL P4 E4HiE (338 [78.20 [71.84
IS P 24 Bt 105300 |AFLPA JE4HE [317 [83.00 [71.24
B | 105300 |AFLT4E JE4HE [305 [81.60 [69.24
N = 105300 |AFL P4 4 Hi (333 [71.60 [68.60
Fds | 105300 |AFL P4 E4HE (319 [74.80 [68.20
EH P 24 Bt 105300 |AFL P4 E4HiE [325 [71.40 [67.56

fifi %2, 255 100700 |24 4 H4%]  |411 [90.30 [85.44
AL eSS 100700 |Z%F 4 H%l  |409 [88.00 [84.28
R |2 100700 |24 4= H 391 [92.80 [84.04
BT | 100700 |Z%F 4= H 397 [90.80 [83.96
[ERis) 2455 100700 |24 4= H 380 [95.00 [83.60
wEE AR 100700 |Z%F 4 H%l  |400 [88.10 [83.24
P [25%8% 100700 [242# 4= H 378 [90.80 [81.68
Y eSS 100700 |Z%F 4= H 383 [89.20 [81.64 [/CEE itk
L |25k 100700 |24 4= H 380 [89.90 [81.56
PN eSS 100700 |Z%F 4= H 378 [89.90 [81.32 [/bEE itk
fhiElg 2556 100700 |Zj% 4= H il 383 [88.20 [81.24
I EOEa 100700 |Z%F 4= H 376 [88.40 [80.48

e AT S 105500 |Zj% 4= H il 412 (95.00 |87.44 |17 Riltdy
MFAE 2558 105500 |Z%F 4 H%l  |402 [95.00 [86.24
aHl |2 105500 |#j% 4= H il 405 [91.10 |85.04
NIRRT 105500 |Z%F 4= H 388 [95.00 [84.56
i AT 105500 |Z42F 4= H 399 [91.60 [84.52
XEiE 2558 105500 |Z2F 4= H 393 [93.00 [84.36
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" X BEIE |, FREY |9 1B |HE .

w3 PASK AV PR W ASFELE Bt e e e #=F

% 255 105500 |Z42F 4 H4%] 419 [85.00 [84.28

2= fh eSS 105500 |Z%F 42 H%l  |402 [89.40 [84.00

PR |42 105500 |Z42F 4= H 393 [91.80 [83.88

sRERAE | Zy2ERR 105500 |Z%F 4 H%l  |403 [88.50 [83.76

JE 255 105500 |Z4%F 4 H4]  |402 [88.60 [83.68 |kt
Y A e 105500 |Z%F 4= H 388 [91.30 [83.08

U e 105500 |Z4%F 4= H 390 [90.60 [83.04
e 105500 |#4% 4= H il 389 [90.60 [82.92 |[dimi2FRelkky;
THFEEE %R 105500 |#j% 4= H il 407 |85.00 |82.84

2= e 105500 |Z%F 4= H 387 [90.40 [82.60

A EES R 105500 |Z42F 4= H 394 (88.00 [82.48

W |2k 105500 |Z%F 4= H 387 [90.00 [82.44

R A EE 105500 |Z4%F 4= H 380 [91.80 [82.32

PEER 255 Bx 105500 |Z%F 4= H 386 [89.50 [82.12

il [25%8k 105500 |Z4%F 4= H 373 [92.90 [81.92

X | 2552 FE 105500 |#4% 4= H il 399 [85.00 [81.88 |2 Flelkky;
e 255 105500 |Z42F 4= H 380 [90.50 [81.80

H=E1E | 2% 105500 |#4% 4= H il 385 [89.00 [81.80 [ Flelkky;
D I T 105500 |Z42F 4= H 381 [90.00 [81.72

FE eSS 105500 |Z%F 4= H 380 [90.10 [81.64

MERIE 2556 105500 |Zj% 4= H il 397 [85.00 [81.64
RS 105500 |Z%F 4= H 376 [91.30 [81.64

K AR 2455 105500 |Z4%F 4= H 376 [91.10 [81.56

T ST 105500 |Z%F 4= H i 385 [88.40 [81.56

i 2455 105500 |Z42F 4= H 379 [90.00 [81.48

e N ST 105500 |Z%F 4= H 393 [85.60 [81.40

FERRIN  [25%B% 105500 |Z42F 4= H 378 [90.00 [81.36 |kmiZ#knltsy
A ST 105500 |Z%F 4= H 375 [90.80 [81.32

it I B 105500 |Zj% 4= H il 373 [91.30 [81.28 |Ihihi2e bty
R |2 105500 |Z%F 4= H 376 [90.00 [81.12

RA |25 105500 |Z2F 4= H 379 (88.90 [81.04

S SR EES 105500 |#4% 4= H il 377 188.00 [80.44 [dimi2Flelkky;
PR [ 105500 |Z2F 4= H 373 [88.90 [80.32

PtIE eSS 105500 |Z%F 4= H 375 [88.00 [80.20

S EE 105500 |Z42F 4= H 382 [82.80 [78.96

K i B H 2R T 125100 |Tpisss 42 H%  [239 [91.10 [83.10
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" . MERRE |, FREY |9 1B |HE .
w3 PASK AV PR W ASFELE Bt e e e #=F
H—K |5 125100 | TRis 4 H4%] 236 [90.50 [82.22
it B H 2R T 125100 | Tpisss 4 H%l  |236 [87.70 [81.38
R | 125100 | TRisssd 4= H 235 [86.40 [80.75
PRER S PEER 125100 | Tpisss 4 H%  |226 [88.40 [79.25
HRE|ERAER 125100 | TRisssd 4= H 227 (86.90 [79.04
e es £ 125100 | T pisss 4 H%  |234 [81.30 [78.99
THkP B AR 125100 | TRis 4 H4%] |228 [83.90 [78.37
KIEM BB 125100 |Tpisss 4 H%l  |226 [83.50 [77.78
TEE  |FH¥ER 125100 | TRifs 4 H il 222 186.50 [77.75
RS [ 125100 | Tpisss 4= H il 226 [83.00 [77.63
RENE [EEER 125100 | T.Risssd 4= H 224 (84.40 [77.59
ik % B H 2R T 125100 | Tpisss 4 H%  |220 [87.10 [77.46
KA [EEERR 125100 | T.Risssd 4= H 224 (83.50 [77.32
U B H 2R T 125100 | T pisss 2 H%  |219 [86.90 [77.17
ThET SRR 125100 | TRisssd 4= H 226 (80.75 [76.96
PN | E AR 125100 | TRy 4= H il 215 [86.60 [76.15
A [EEER 125100 | Tpisssd 4= H 220 (82.70 [76.14
TR [ AR 125100 | Tpisss 4 H%l  |213 [87.82 [76.05
Kirie B 125100 | TRiss 4 H4%] 218 [83.80 [76.01
Dt R 125100 | Tpisss 2 H%  |214 [86.90 [76.00
MR S BREAER 125100 | T.Risssd 4= H 212 (88.40 [75.99
IR | 2E 125100 | T pisss 2 H%  |213 [86.90 [75.77
P AR 125100 | TRisssd 4= H 218 [82.70 [75.68
AR B H 2R T 125100 |Tpisss 4 H%  |211 [87.70 [75.54
RO [E AR 125100 | T.Risssd 4= H 211 [86.90 [75.30
WA | RERER 125100 | T pisss 4 H%l  |215 [83.30 [75.16
XNEFE [EER 125100 | T.Risssd 4= H 212 [85.20 [75.03 [iEBf% K 2pA+ it &l
I g B 125100 | Tpisss 2 H%  |214 [83.20 [74.89
PRiEaE | BREERE 125100 | TRiss 42 H4%]  |201 [92.66 [74.70
iRz | PR 125100 | T pisss 42 H%  |209 [86.30 [74.66
R [EEER 125100 | T.Riss 4 Hi  [222 [76.20 |74.66
A B AR 125100 | T pisss 42 H%  |213 [82.20 [74.36
K |E AR 125100 | Tpisssd 4= H 206 [87.60 [74.35
ERHE | REER 125100 | Tpisss 4 H%  |207 [86.80 [74.34
AfRal | BB 125100 | Tpisssd 4= H 208 (85.70 [74.24
SOril AR 125100 |Tpisss 4 H%  |208 [84.70 [73.94

% 50 i, 3157 51




MERIE

i

il

w3 PASK AV PR W ASFELE Bt e e e #=F

Rt AR 125100 | TRis 4 H4%]  |206 [85.80 [73.81

PiFlE [ REAER 125100 | Tpisss 4 H%  [211 [80.80 [73.47

TR BB 125100 | TRgss 4 Hi#  [212 [79.60 [73.35

A e B 125100 | Tpisss 4 H%l  |201 [87.90 [73.27

TEH &Rk 125100 | TR 4 H4%]  |205 [84.70 [73.24

AR B R 125100 | T pisss 4 H%l  |207 [83.00 {73.20

MEE  [EHFR 125100 | TRisssd 4= H 207 (82.42 [73.03

FEE | EER 125100 |Tpisss 2 H%  [210 [79.40 [72.82

sk | E AR 125100 | T.Risssd 4= H 204 [83.70 [72.71 |7 yb# T HkEE
SR |E R 125100 | T pissd 4= H il 207 |[79.30 [72.09 |k i FRelkss
N BB 125100 | TRiss 42 H4]  [203 [81.90 [71.94 [T yka TR
A B 125100 | T pissd 4= H il 199 ([85.00 |71.93 |k i FRelkss
e B 125100 | TR 42 H4]  [205 [80.30 [71.92 |Tika TR
RAE B H 2R T 125100 | T pisss 4= H il 199 [84.80 |71.87 |7+ k¥ T 1k,
B AR 125100 | TRis 4= H il 188 [92.94 |71.75

Rl SR 125100 | TRy 4= H il 195 [85.90 |71.27 |3k i #Rlkss
R AR 125100 | TRis 4 H4%]  |200 [80.34 [70.77

W% B H 2E T 125100 | Tpisss 4 H%l  |201 [78.68 [70.50

TEILT B 125100 | TRiss 4= H il 191 |85.88 [70.33

PR | BEER 125100 | Tpisss 4= H il 197 [80.89 |70.23

e Ui e 125100 | TRiss 4= H il 181 [89.34 |69.04

SR [ REAER 125300 |[<:it 2 H%  |254 [91.67 [86.77

BRiET | 125300 |£if 4= H 252 (90.17 [85.85
Etitaae B 125300 |[<:it 4 H%  |248 [92.33 [85.57

¥t &SR 125300 |£if 4= H 254 (84.83 [84.72

Ak PR 125300 |[<:it AH% (242 (9417 [84.72 |/DERF TR
RS [EER 125300 |£if 4= H 248 (88.67 [84.47

BRI SRR 125300 |[<:it 4 H%  |247 [87.83 [83.98

wE | E RN 125300 |[<:it 4 H4%]  |254 [80.67 [|83.47

PEsT | PR 125300 |[<:it 4 H%  |251 [79.83 [82.52

B | AR 125300 |[<:it 4Hi#  [247 |82.83 [82.48

AT [EHENR 125300 |[<:it 4Hi  [233 180.83 [78.62 [iEf% Kz itk
TRA |EEER 125300 |£if 4= H 221 [86.00 [77.37 [iBf% K¢+ it &)
=il B H 2R T 125100 | Tpisss E4HiE [249 [86.00 [83.90

T [EEEER 125100 | TRism 4 HE [227 98.20 [82.43

s B H 2R T 125100 |Tpisss 4 Hit [230 [95.57 [82.34
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MERIE

FREBES]

i

il

"E PIREUFERR W BREF Bt e e e 7t
ZIBWE  |E PR 125100 | Tri%se JE4Hi [237 [88.60 [81.88
Tl G 125100 | T JE4H#l |237 [|87.80 [81.64
BREAE ¥R 125100 | Tritse JE4H#l [239 [85.80 [81.51
WA PR 125100 | T JE4HHl |236 [87.95 [81.45
R AT 125100 | Lrie {4 Hil [232 [90.86 [81.39
1wt e g 125100 | T JE4HHl |227 [94.60 [81.35
BELR |EHER 125100 | TR 4 Hil [233 [89.62 [81.25
W e g 125100 | T JE4H#l |235 [86.00 [80.63
Flighs B 125100 | TRt JE4Hil [225 [93.20 [80.46
E R CE e 125100 | T JE4H#l |226 [91.83 [80.28
R B 125100 | TRt JE4Hil [235 [84.00 [80.03
T e g 125100 | T JE4HHl |232 [86.00 [79.93
R B 125100 | TRt FE4 Ml |224 191.90 [79.84
S e R 125100 | T JE4HHl |227 [89.20 [79.73
{ZI) BB 125100 | TRt JE4Hil [232 [84.90 [79.60
Wi R 125100 | T JE4HHl |230 [86.40 [79.59
S BB 125100 | Tri%se FE4 Ml |223 |91.80 |79.57
HmA  |ERER 125100 | T JE4HHl |231 [85.40 [79.52
SNz |E PR 125100 | TRt JE4H#l |233 [83.50 [79.42
G 125100 | T JE4HH [234 [82.69 [79.41
PrieT B AR 125100 |[Tpase JE4-H#l [231 |84.60 [79.28
e 125100 | T JE4H#l |236 [80.60 [79.25
T= BB 125100 | TRt JE4Hil [236 [80.40 [79.19
HES &2k 125100 | T JE4HHl |227 87.30 [79.16
FOE BB 125100 | TRt FE4 M |231 |84.20 |79.16
ook [Pk 125100 | T JE4H#l [239 [76.80 [78.81
TR BB 125100 | TRt FE4 Ml |226 |86.57 |78.70
R e g 125100 | T JE4H#l [223 [87.60 [78.31
JEEL B 125100 | TRt FE4 Ml |221 |89.00 |78.27
e 125100 | T JE4HHl |222 |87.90 [78.17
ZAh BB 125100 | TRt FE4Hdl |219 |90.17 |78.15
k& e g 125100 | T JE4HHl [236 [76.80 [78.11
R PR 125100 |Tpase JE4H#El (219 [89.34 [77.90
SREHIT AR 125100 | T JE4H#Hl |210 [|95.58 [77.67
HEEN |E PR 125100 | Trits FE4HdIl |217 |90.03 |77.64
N g 125100 | T JE4HHl [221 [86.80 [77.61
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" . MERRE |, FREY |9 1B |HE .
w3 PASK AV PR W ASFELE Bt e e e #=F
R |E AR 125100 | Tpisssd 4 HE [224 |84.49 |77.61
Bl B H 2R T 125100 | Tpisss EAHE [219 [88.10 [77.53
R FH B R R 125100 | TRisss JE4HH |219 [87.54 |77.36
e e B3 125100 | Tpisss EAHE [220 [86.60 [77.31
7580 | H R 125100 | TRisssd JE4HE [217 88.90 |77.30
R I = 125100 | T pisss E4Hi [222 [84.80 [77.24
Bk AR 125100 | TRisssd 4 HE [208 [95.57 [77.20
MRmkmm | 125100 |Tpisss EAHE (219 [87.00 [77.20
T B PR R 125100 | TRifs JE4HH |218 [87.54 |77.13
SeEH | BERER 125100 | Tpisss E4HE (223 [83.60 [77.11
REAAE |EHER 125100 | TRisss JE4HiH |220 [85.88 |77.10
i B H 2R T 125100 | Tpisss E4Hi [228 [79.60 [77.08
ZIEL |ERAER 125100 | T.Risssd E4HE [224 [82.69 [77.07
L o g B 125100 | T pisss JE4Hi [223 [83.40 [77.05
AR B 125100 | TRisssd E4HE [213 [90.86 [76.96
. B 125100 | T pisss JE4HiE [220 [85.30 [76.92
KWK [EEERR 125100 | Tpisssd E4HE [215 [88.80 [76.81
B B H 2E T 125100 | Tpisss E4HiE [225 [81.00 [76.80
Ked  [EH¥ER 125100 | T.Risssd JE4HE |218 [86.29 |76.75
BRoe it | B PR 125100 | Tpisss E4Hi [207 [94.60 [76.68
MK B 125100 | T.Risssd JE4HE [223 [82.10 |76.66
Kbz S PEERE 125100 | T pisss EAHE [229 [77.20 [76.59
EEkGE AR 125100 | TRisssd JE4HE [212 [90.17 |76.52
5K A B H 2R T 125100 |Tpisss E4HE [215 [87.54 [76.43
WReH  |[EHER 125100 | T.Risssd JE4HE [212 89.89 |76.43
L. B 125100 | T pisss EAHE [217 [85.60 [76.31
T | B 125100 | T.Risssd JE4HE |215 |87.00 |76.27
e T 125100 | Tpisss JE4HiE [220 [83.00 [76.23
EOEm SRR 125100 | T.Risssd JE4HE [212 88.80 |76.11
T (1 B H 2R T 125100 | T pisss EAHE (218 [84.10 [76.10
UKok & BB 125100 | Tpisssd E4HE [210 [90.20 [76.06
Tl B R 125100 | T pisss E4Hi [206 [93.22 [76.03
TERR | BB 125100 | Tpisssd E4HE [229 [75.20 [75.99
7 B H 2R T 125100 | Tpisss EAHiE [224 [79.00 [75.97
gk |E BB 125100 | Tpisssd E4HE [214 [86.80 [75.97
TLERL [ 2R 125100 |Tpisss E4HE [213 [87.40 [75.92
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. . URME |, ERES R (B |5E :
sREEE B 125100 | LR FE4Hl [209 [90.31 [75.86
mERE B 125100 [T JE4Hil [216 [84.80 [75.84
Pl = e 125100 | TR 4 H# [212 [87.80 |75.81
R[S ER 125100 [T JE4Hi#l [207 [91.55 [75.77
sk i BB 125100 | TRi&H k4 H#l |208 [90.72 [75.75
T 125100 [T JE4Hifil [222 [79.80 [75.74
Jiti A BB 125100 | LRI H 4 H4l [229 [74.20 [75.69
i Ik BB 125100 [T JE4Hil [227 75.60 [75.65
XER B 125100 | LRI H k4 H4l |216 [84.10 [75.63
e BB 125100 [T JE4Hi#l [218 [82.55 [75.63
BN |EHY 125100 | LRI H 4 H4l |218 [82.40 [75.59
B 2L e e 125100 [T JE4Hi#l [200 [96.40 [75.59
BT | 125100 | LR JE4H#l [215 [84.70 [75.58
F BB 125100 [T JE4Hil [204 93.22 [75.57
FEA AR |EHE 2B 125100 | TR 4 H# [229 [73.80 |75.57
EES BB 125100 [T JE4Hil [217 [82.98 [75.53
EESSIN-¢ 5 125100 | TR 4 H# [214 [85.30 [75.52
EER BB 125100 [T JE4H#l [210 [88.37 [75.51
B[R 125100 | LR JE4H#l [208 [89.89 [75.50
sRBINT [ 125100 [T JE4Hi#l [208 [89.75 [75.46
YL BB 125100 | TRi&H 4 H4l |217 [82.70 [75.44
F | 125100 [T JE4Hi#l [214 [85.00 [75.43
HAG BB 125100 | TR 4 HE [221 [79.50 [75.42
Y A 125100 [T JE4Hi#l [216 [83.40 [75.42
Hedts BB 125100 | TR 4 H# [216 [83.38 |75.41
ThrE [ 125100 [T JE4Hil [212 86.40 [75.39
E— [ERR 125100 | TR 4 HE (219 [80.80 [75.34
R G 125100 [T JE4H#l [216 [83.11 [75.33
BT BB 125100 | TR 4 Hi# [209 [88.50 [75.32
e EEET: 125100 [T JE4Hifl [217 [82.20 [75.29
frEE B 125100 | LRI H k4 H4l |223 [77.50 [75.28 [iBf% kit itk
FHege  [EHb 125100 [T JE4Hil [211 86.70 [75.24
O R 125100 | LRI H 4 H4l [212 [85.90 [75.24
JER B 125100 [T JE4Hil [223 [77.30 [75.22
T ENE el 125100 | TR 4 H# [225 [75.60 [75.18
R A 125100 [T JE4Hi#l [216 [82.60 [75.18
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v . URME |, EREY (K (B |ZE R
BEEE AR 125100 | TR E4HH [217 [81.80 [75.17
AT 125100 | Lrifs s 4 HE [214 [84.10 [75.16
SR |EHY 125100 | LRI H 4 H4l |217 [81.58 [75.11
ik B 125100 | Lrifs s 4 H# [201 [93.91 [75.07
skits BB 125100 | TR 4 Hitl [220 [79.00 [75.03
G 125100 | Lrifs s 4 Hi [208 [88.30 [75.02
Simik  |EEYR 125100 | LRI H k4 H4l |207 [89.06 [75.02
v AT 125100 | Lrifs s 4 Hi [209 [87.40 [74.99
R [EH R 125100 | LRI H e HH 211 [85.80 |74.97
kg B2 125100 | Lrifs s 4 HE (219 [79.51 [74.95
il | 125100 [T 4 Hitl [214 [83.40 [74.95
CEPN G 125100 | Lrifs s 4 H# [216 [81.60 [74.88
oy BB 125100 | TRi&H 4 H# [217 [80.70 [74.84
e B 125100 | Lrifs s 4 Hi [207 [88.40 [74.82
R B 125100 | TR 4 Hitl [222 [76.60 [74.78
VI B 125100 | Lrifs s 4 H# [215 [82.00 [74.77
X el 125100 | T # E4HE [202 [92.11 [74.77
K |EHEk 125100 | Lrifs s 4 H# [218 [79.60 [74.75
IES BB 125100 | LRI H 4 HE [211 [84.91 [74.71
e B2 125100 | Lrifs s 4 Hi [208 [87.20 [74.69
PRt [ 125100 | TRi&H k4 H4l |217 [80.10 [74.66
= B 125100 | Lriss s 4 H# [215 [81.50 [74.62
VR BB 125100 | LRI H 4 H# [203 [90.86 [74.62
733 B 125100 | Lrifs s 4 HE [211 [84.60 [74.61
HW B 125100 | LRI H 4 H# [210 [85.32 [74.60
el GEET 125100 | Lrifs s 4 Hi [213 [82.97 [74.59
Gk BB 125100 | LRI H k4 H#l |206 [88.37 |74.58
EIMRE | PR 125100 | Lrifs s 4 HE [199 [93.77 |74.56
HR4E B 125100 | TRi&H 4 H# [212 [83.60 [74.55
o fik B 125100 | Lriss s 4 Hi [205 [89.06 [74.55
Al BB 125100 | LRI H 4 H# [202 [91.40 [74.55
NGRS 125100 | Lrifs s 4 Hi [204 [89.80 [74.54
K B 125100 | TR E4HH [217 [79.70 [74.54
TR 125100 | Lrifs s 4 Hi [212 [83.38 [74.48
WA B 125100 | TRi&H 4 H4l [210 [84.91 [74.47
P 125100 | Lrifs s 4 HE [199 [93.45 [74.47
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MERIE

FREBES]

i

il

%37 PAR AN P W PAREZ Al Bt e e e =i
R B 125100 | LRI H E4HH |216 [80.20 [74.46
g B T At 125100 | LRI H 4 HEl [211 [84.10 [74.46
B 125100 | TR 4 Hil [198 [94.18 [74.45
I B 125100 | LRI H 4 Hbl [211 [84.00 [74.43
i e e T 125100 | TRi&H 4 HHl [200 [92.40 [74.39
EEFE [ ESER 125100 | LR HE 4 Hi [209 [85.40 [74.39
R B 125100 | TR 4 Hil [208 [86.20 [74.39
FREW | 125100 | LRI HE 4 Hi# [209 [85.30 [74.36
i e K= e U 125100 | LRI H 4 HHl |202 [90.72 [74.35
e SR 125100 | LRI H 4 H# [211 [83.70 [74.34
(G et e 125100 | LRI H E4HH |214 [81.30 [74.32
5kt B 125100 | LRI H 4 Hi [212 [82.83 [74.32
JAE BB 125100 | TRi&H E4HHl |220 [76.60 [74.31
A E B 125100 | LRI H 4 Hi [203 [89.75 [74.29
Phiffn B EAR 125100 |TriEH 4 H4l [207 [86.57 [74.27
5] BB 125100 | LR HE 4 Hi [202 [90.45 [74.27
W R 125100 | LRI H E4HE [201 [91.14 [74.24
B S 125100 | LRI H 4 Hi [204 [88.78 [74.23
TFER |EHY 125100 | LRI H 4 Hil [205 [87.95 [74.22
BHEKIE | SRR 125100 | LRI H 4 Hi [205 [87.80 [74.17
B YR 125100 | TRi&H 4 HHl [201 [90.86 [74.16
s R 125100 | LRI HE 4 Hi [212 [82.30 [74.16
M SRR 125100 | LRI H E4HHl |204 [88.40 [74.12
B¢ B CGEEA 125100 | LRI HE 4 H# (200 [91.42 [74.09
il B 125100 | LRI H E4HHl |214 [80.40 [74.05
RS [ 125100 | LRI H 4 Hi [204 [88.09 [74.03
A BB 125100 | LRI H E4HH [210 [83.40 [74.02
ki B 125100 | LRI H 4 Hi [218 [77.00 [73.97
k| 125100 | TRi&H E4Hbl |209 [84.00 [73.97
L | 125100 | LRI HE 4 H# 198 [92.52 [73.96
AN B 125100 | LRI H E4HH [210 [83.20 [73.96
ik (& B 125100 | LR HE 4 HE [196 [94.05 [73.95
ik | B 125100 | LRI H E4HHl |206 [86.20 [73.93
P SR 125100 | LRI HE 4 H# [201 [90.03 [73.91
TR B 125100 | TRi&H E4HHl |207 [85.32 [73.90
il BB 125100 | LRI H 4 HE [215 [79.09 [73.89
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i
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w3 PASK AV PR W ASFELE Bt e e e #=F
i 5% AR 125100 | TRis 4 HE [202 [89.20 [73.89
FirE  |EPEER 125100 | Tpisss E4HE (213 [80.60 [73.88
ES B 125100 | TRgss E4HE [212 [81.20 [73.83
o B H 2R T 125100 | TR EAHE [199 [91.00 [73.73
I 12 B 125100 | Lrie i 4 Hil [215 [78.40 [73.69
28 B H 2R T 125100 | T pisss EAHE [210 [82.28 [73.68
2 AR 125100 | TRis E4HiE [202 [88.30 [73.62
W | ERER 125100 |Tpisss EAHE [217 [76.60 [73.61
sk} AR 125100 | T.Risssd JE4HE |207 [84.30 |73.59
e BT 125100 | Tpisss E4HiE [209 [82.69 [73.57
EE R 125100 | TRiss E4HiE [205 [85.80 [73.57
sksh 5 [ REAER 125100 | Tpisss E4Hi [202 [88.09 [73.56
MRt [ EEER 125100 | T.Risssd JE4HE [209 [82.60 |73.55
WAERE B HAER 125100 | T pisss E4HiE [209 [82.60 [73.55
kR | 125100 | TRisssd JE4HE [211 |81.00 |73.53
BEF | HEN 125100 | T pisss E4Hit [206 [84.80 [73.51
SR [EEEE R 125100 | TRis E4HE [221 [73.00 [73.47
B BN 125100 | Tpisss E4HE (211 [80.80 [73.47
it AR 125100 | TRiss 4 HEl [204 [86.20 [73.46
IR B H 2R T 125100 | Tpisss E4HiE [195 [93.20 [73.46
MR B 125100 | TRiss E4HiE [206 [84.60 [73.45
FUHE | REER 125100 | T pisss EAHE (212 [79.92 [73.44
R | BB 125100 | TRis E4HE [210 [81.40 [73.42
4R B H 2R T 125100 |Tpisss EAHE [209 [82.14 [73.41
| REER 125100 | TRgss JE4HE [211 [80.60 [73.41
SUEHE [E AR 125100 | T pisss E4Hi [204 [85.88 [73.36
RERK  [EE R 125100 | T.Risssd JE4HE |204 |85.88 |73.36
BRI SRR 125100 | Tpisss E4HE [197 [91.28 [73.35
AR B 125100 | TRiss E4HiE [203 [86.57 [73.34
R B H 2R T 125100 | T pisss JE4Hi [204 [85.74 [73.32
TR |ERER 125100 | T.Riss EAHE [190 [96.40 [73.25
BARE B HER 125100 | T pisss E4Hi [204 [85.46 [73.24
AL BB 125100 | TRis 4 HEl [201 [87.70 [73.21
H & B H 2R T 125100 | Tpisss 4 Hi [204 [85.32 [73.20
XI) & B 125100 | TRism E4HE [210 [80.40 [73.12
EAM B 125100 |Tpisss E4HE [210 [80.40 [73.12
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v . WERE |, EREY (K (B |ZE .
%37 AR IR W PAREZ Al Bt e e e =i
XK BB 125100 | LRI H E4H4Hl |206 [83.38 [73.08
TR |E SR 125100 | LRI H 4 Hbl |207 [82.30 [72.99
R BB 125100 | TR 4 Hitl [207 [82.30 [72.99
AR | AR 125100 | LRI H 4 Hbl |206 [82.90 [72.94
ERA | EHEER 125100 | TRi&H E4HH 193 [92.80 [72.87
FIEZE SR 125100 | LR HE 4 Hbl |207 [81.80 [72.84
SRR SRR 125100 | LRI H 4 Hbl |204 [84.00 [72.80
= B 125100 | LRI HE 4 H% 196 [90.10 [72.76
wH2E |EHYR 125100 | LRI H E4HH |213 [76.80 [72.74
TR | 125100 | LRI H 4 Hbl [198 [88.23 [72.67
K BB 125100 [T 4 Hil [205 [82.80 [72.67
Rk B 125100 | LRI H 4 Hbl 196 [89.75 [72.66
RSN ] T 125100 | TRi&H E4HH |209 [79.60 [72.65
EH B T A 125100 | LRI H 4 HE 199 [87.30 [72.62
Xk BB 125100 | LRI H E4HH 197 [88.80 [72.61
B | SER 125100 | LR HE 4 Hbl [188 [95.71 [72.58
LA BB 125100 [T 4 Hibl [210 [78.60 [72.58
RUE B 125100 | LRI H 4 Hbl 196 [89.34 [72.54
5 U BB 125100 | LRI H 4 Hbl |207 [80.60 [72.48
ES T A 125100 | LRI H 4 Hbl 197 [88.30 [72.46
235 [E N 125100 | TRi&H E4HH |213 [75.80 [72.44
W EE BB 125100 | LRI HE 4 HE (192 [92.00 [72.40
skAl BB 125100 | TR 4 Hb [212 [76.40 [72.39
LTET R 125100 | LRI HE 4 Hbl |203 [83.40 [72.39
G BB 125100 | LRI H E4HH 196 [88.78 [72.37
G 125100 | LRI H 4 Hbl |201 [84.91 [72.37
Mg BB 125100 | TR 4 H4l [205 [81.80 [72.37
WA PR 125100 | LRI H k4 H#bl |207 [80.20 [72.36
B RH BB 125100 | TRi&H E4HH [215 [73.90 [72.34
=S BB 125100 | LRI HE 4 HE 192 [91.80 [72.34
Mg R 125100 | LRI H E4HEl |204 [82.40 [72.32
s B 125100 | LR HE k4 H#%l |205 [81.60 [72.31
Pk BB 125100 | LRI H 4 H%l |206 [80.80 {72.31
PR [P 125100 | LRI HE 4 Hbl |208 [79.20 [72.29
T e 125100 | TRi&H E4HH 199 [86.10 [72.26
kK BB 125100 | LRI H 4 HHl 195 [89.10 [72.23
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w3 PASK AV PR W ASFELE Bt e e e #=F
TRIE AR 125100 | Tpisssd 4 HEl [201 [84.30 [72.19
ik B AR 125100 | Tpisss E4HiE [196 [88.20 [72.19
ML | E AR 125100 | TRisssd E4HE [195 [88.92 [72.18
FHM | REER 125100 | Tpisss E4HE [194 [89.70 [72.18
ThadE  [EEEERR 125100 | TRisss JE4HiH 1207 [79.50 [72.15
XM BN 125100 | T pisss JE4HE [193 [90.20 [72.09
FHH  |EHER 125100 | TRisssd E4HE [196 [87.80 [72.07
ORGP 125100 |Tpisss JE4HE [193 [90.10 [72.06
S AR 125100 | T.Risssd E4HE [193 [90.10 [72.06
FEM [ REAER 125100 | Tpisss JE4Hib [188 [93.91 [72.04
RS e T 125100 | T.Risssd E4HE [201 [83.80 [72.04
SRR | PRER 125100 | Tpisss 4 Hi [200 [84.40 [71.99
FREFE | EEAERR 125100 | T.Risssd E4HE [199 [85.18 [71.99
MGy | AR 125100 | T pisss E4HiE [204 [81.30 [71.99
CRi =T BT 125100 | TRisssd EAHE [190 [92.11 [71.97
g T | REERER 125100 | T pisss JE4HiE [195 [88.20 [71.96
pARE B 125100 | Tpisssd E4HE [195 [88.09 [71.93
o g B 125100 | Tpisss 4 Hi [200 [84.10 [71.90
IR | HEERR 125100 | T.Risssd JE4HEl |200 [84.08 |71.89
A S ERRER 125100 | Tpisss JE4HiE [193 [89.34 [71.84
BRI | AR 125100 | T.Risssd E4HE [205 [80.00 [71.83
M | PR 125100 | T pisss E4Hi# [200 [83.80 [71.81
HOE |E AR 125100 | TRisssd JE4H4 [200 [83.80 [71.81
SREEAT | PERERE 125100 |Tpisss EAHE [201 [82.97 [71.79
FHIA AR 125100 | T.Risssd E4HE [196 [86.85 [71.79
JLYEE  [EHEEN 125100 | T pisss E4HE [201 [82.90 [71.77
XHRAE | HAERE 125100 | T.Risssd E4HE [187 [93.70 [71.74
4 XK B H 2R T 125100 | Tpisss EAHE [199 [84.35 [71.74
A B 125100 | T.Risssd 4 HEl [202 [82.00 [71.73
iRT [EEAER 125100 | T pisss E4Hi [200 [83.52 [71.72
PR B AR 125100 | Tpisssd JE4HEl [201 [82.60 |71.68
TRER=E [ H AR 125100 | T pisss E4HiE [195 [87.26 [71.68
e[S 125100 | Tpisssd E4HE [193 [88.80 [71.67
T B H 2R T 125100 | Tpisss E4Hi [201 [82.55 [71.67
THE SRR 125100 | Tpisssd JE4HE [187 |93.08 |71.56
R e 125100 |Tpisss E4Hi [207 [77.50 [71.55
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e LA 125100 [T 4 Hil [195 [86.80 [71.54
B SR 125100 | LRI H 4 H%l |201 [82.10 [71.53
g B 125100 | LRI H E4HHl [188 [92.00 [71.47
BEEE S HEER 125100 | LRI H 4 Hbl 193 [87.95 [71.42
FEE T | AR 125100 | TRi&H E4HH 195 [86.29 [71.39
iR S 125100 | LR HE 4 Hbl 196 [85.46 [71.37
B3 B 125100 | LRI H E4HH |209 [75.20 {71.33
IRfER | 125100 | LRI HE 4 Hb 196 [85.32 [71.33
5 o Y % [ 125100 | Lt 4 HHl [191 [89.20 [71.33
e B 125100 | LRI H 4 Hbl 197 [84.50 [71.32
5 LA 125100 [T 4 Hil [202 [80.60 [71.31
Gk B 125100 | LRI H 4 Hb 196 [85.18 [71.29
JARRMS |k 125100 | TRi&H E4HH 197 [84.40 [71.29
JRrE | SER 125100 | LRI H 4 H#%l |200 [82.00 [71.27
SHB  |EERR 125100 | LRI H 4 HHl |200 [82.00 [71.27
A CEE 125100 | LR HE k4 H%l [185 [93.63 [71.26
sRAERE BB 125100 | LRI H E4HH 195 [85.88 [71.26
THIV | 125100 | LRI H 4 Hbl 194 [86.60 [71.25
il BB 125100 [T 4 Hil [203 [79.60 [71.25
SUmE SR 125100 | LRI H 4 Hbl 196 [85.00 [71.23
A BB 125100 | TRi&H 4 Hil [206 [77.20 [71.23
T | EH%R 125100 | LRI HE 4 HEl 194 [86.50 [71.22
HUE |EEERR 125100 | LRI H E4HH 198 [83.40 [71.22
SBR[ 125100 | LRI HE 4 Hbl |201 [81.00 {71.20
ik % BB 125100 | LRI H E4HH 187 [91.83 [71.18
A 125100 | LRI H 4 H%l [185 [93.35 [71.17
skl LA 125100 [T 4 Hil [203 [79.30 [71.16
s | 125100 | LRI H 4 H% 198 [83.20 [71.16
AEF BB 125100 | TRi&H 4 Hil [198 [83.20 [71.16
winy SRR 125100 | LRI HE 4 Hb 195 [85.40 [71.12
sk SRR 125100 | LRI H E4HH 197 [83.80 [71.11
TARRIE | AR 125100 | LR HE 4 H%l 185 [93.13 [71.11
e [ 125100 | LRI H E4HHl |207 [76.00 {71.10
ACTREE | E AR 125100 | LRI HE 4 Hbl 192 [87.60 [71.08
i BB 125100 | TR 4 Hil [204 [78.26 [71.08
R GEEE 125100 | LRI H 4 H#%l |203 [79.00 [71.07
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Mg | BB 125100 | Tpisssd E4HE [195 [85.20 [71.06
BIRE SR 125100 | Tpisss E4HiE [197 [83.60 [71.05
VK B R R 125100 | TRisss JE4HiH |207 |[75.80 |71.04
FFEse [ERER 125100 | Tpisss JE4HH (196 184.30 [71.02
eS| RAERR 125100 | TRisssd 4 HEl [207 |75.70 |71.01
THE G | RERER 125100 | T pisss EAHE [193 [86.60 [71.01
bt et BT 125100 | TRisssd 4 HE [206 [76.40 [70.99
MBI SRR 125100 |Tpisss E4HiE [187 [91.14 [70.98
BARTF [EHR 125100 | T.Risssd JE4HE [194 |85.60 |70.95
+3E B H 2E T 125100 | Tpisss E4HiE [196 [84.00 [70.93
e AR 125100 | T.Risssd 4 HE [197 [83.20 [70.93
JigEM SRR 125100 | Tpisss EAHE [195 [84.70 [70.91
e =g e 125100 | T.Risssd E4HE [196 [83.90 [70.90
X B H 2R T 125100 | T pisss 4 Hil [187 [90.86 [70.89
|58 AR 125100 | TRisssd E4HE [192 [86.90 [70.87
£ B H 2R T 125100 | T pisss 4 Hi [200 [80.60 [70.85
BRIV | EHSERE 125100 | Tpisssd E4HE [195 [84.50 [70.85
ERTE B REER 125100 | Tpisss E4HiE [198 [82.14 [70.84
J7 B | BB 125100 | T.Risssd E4HEl [186 [91.42 [70.83
+ 5 B H 2R T 125100 | Tpisss E4HE [196 [83.60 [70.81
SRR | RSB 125100 | T.Risssd 4 HEl [184 [92.80 [70.77
RIS |EBRERE 125100 | T pisss EAHE [192 [86.57 [70.77
T SRR 125100 | TRisssd E4HE [198 [81.80 [70.74
ER R T 125100 |Tpisss E4HiE [197 [82.55 [70.73
RIS [EER 125100 | T.Risssd E4HE [190 [87.89 [70.70
AEH BN 125100 | T pisss JE4Hib [194 [84.70 [70.68
gRIE R | REERE 125100 | T.Risssd 4 HE [191 [87.00 [70.67
A | EERER 125100 | Tpisss JE4HiE [192 [86.15 [70.65
g [EHER 125100 | T.Risssd E4HE [195 [83.80 [70.64
YR BB 125100 | T pisss E4HE [196 [82.90 [70.60
X% B 125100 | Tpisssd E4HE [192 [86.00 [70.60
i e 125100 | T pisss JE4HH (190 [87.56 [70.60
shutsr  |EREAER 125100 | Tpisssd JE4HEl [201 |79.00 |70.60
el | ERRERE 125100 | Tpisss JE4Hib [195 [83.60 [70.58
ot BT 125100 | Tpisssd 4 HEl [204 [76.60 [70.58
TEM B 125100 |Tpisss E4HE [197 [82.00 [70.57
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W& AR 125100 | TRis E4HE [198 [81.03 [70.51
Mi&ts | BERER 125100 | Tpisss E4Hi [202 [77.75 [70.46
MAN— B 125100 | TRisssd JE4HE [196 [82.40 |70.45
£ B H 2R T 125100 | Tpisss JE4HE [192 [85.32 [70.40
AR B 125100 | TR EAHE [199 [79.90 [70.40
PV B H 2R T 125100 | T pisss E4HE [196 [82.20 [70.39
PAESE B HEERR 125100 | TRis 4 HEl [194 [83.70 [70.38
SRR | RERER 125100 |Tpisss E4HiE [190 [86.80 [70.37
VLA [ BB 125100 | TRgss 4 HE [202 [77.40 [70.35
PEW SRR 125100 | Tpisss E4Hib [186 [89.75 [70.33
= |E AR 125100 | TRiss E4HE [181 [93.63 [70.32
iffE | AR 125100 | Tpisss JE4HH (195 82.69 [70.31
sk | B RN 125100 | TR 4 HEl [201 [78.00 [70.30
e e B3 125100 | T pisss E4HiE [197 [81.03 [70.28
EAIE [EHEER 125100 | TRis 4 HE [192 [84.80 [70.24
k7 B H 2R T 125100 | T pisss JE4HiE [193 [84.00 [70.23
S Pe  |E AR 125100 | Tpisssd JE4HE [191 [85.46 |70.20
2 B H 2E T 125100 | Tpisss 4 Hi [187 [88.50 [70.18
O = 125100 | TRiss E4HE [189 [86.91 [70.17
G2t B 125100 | Tpisss EAHE [191 [85.32 [70.16
EESEEEE BT 125100 | TRiss 4 HE [208 [72.00 [70.13
Kt  [E R 125100 | T pisss 4 Hil [187 [88.30 [70.12
IR AR 125100 | TRisssd JE4HE [194 [82.80 [70.11
PRI | B AR 125100 |Tpisss 4 Hi [188 [87.40 [70.09
KRRy SRR 125100 | TRgss E4HE [187 [88.09 [70.06
En s BT 125100 | T pisss 4 Hil [187 [88.05 [70.05
MON T |E AR 125100 | TRiss 4 HE [197 [80.20 [70.03
i ik B H 2R T 125100 | Tpisss JE4HiE [181 [92.66 [70.03
Iy |E AR 125100 | T.Risssd JE4HE [189 [86.40 [70.02
A B H 2R T 125100 | T pisss E4Hi# [200 [77.80 [70.01
Far SR 125100 | T.Riss 4 HEl [187 [87.82 [69.98
skifER [ EEAER 125100 | T pisss JE4HiE [192 [83.80 [69.94
AU AR 125100 | TRis 4 HE [194 [82.20 [69.93
WeT 1] BB 125100 | Tpisss E4Hib [187 [87.60 [69.91
JBE M\ B 125100 | TRism E4HE [190 [85.20 [69.89
B B H 2R T 125100 |Tpisss JE4HiE [193 [82.80 [69.87
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W [EEAER 125100 | TRis 4 HE [191 [84.35 [69.87
s BN 125100 | Tpisss JE4HiE [193 [82.80 [69.87
X3 [E AR 125100 | TRgss E4HE [189 [85.88 [69.86
Ao SRR 125100 | Tpisss JE4Hi [198 [78.80 [69.84
BAEE BN 125100 | TR E4HE [190 [85.00 [69.83
s | PEERE 125100 | T pisss JE4HE [192 [83.20 [69.76
M oC | E BB 125100 | TRis E4HE [194 [81.60 [69.75
f it B H 2R T 125100 |Tpisss JE4HiE [190 [84.70 [69.74
M | SRR 125100 | TRgss E4HE [183 [90.10 [69.73
v s BT 125100 | Tpisss EAHE [179 [93.22 [69.73
R U B AR 125100 | T.Risssd JE4HE [199 |77.60 [69.71
RS | PRRER 125100 | Tpisss EAHE [192 [82.97 [69.69
T [EEER 125100 | TR 4 HEl [184 [89.20 [69.69
8iA B H 2R T 125100 | T pisss JE4HiE [190 [84.50 [69.68
= AR 125100 | TRis E4HE [181 [91.42 [69.66
WA | B 125100 | T pisss E4Hib [198 [78.10 [69.63
KER SR 125100 | Tpisssd JE4HEl |203 |74.20 |69.63
e e B3 125100 | Tpisss JE4HiE [195 [80.40 [69.62
g SRR 125100 | TRiss E4HE [195 [80.40 [69.62
AT |EPEER 125100 | Tpisss EAHE [190 [84.29 [69.62
R B 125100 | TRiss E4HiE [186 [87.40 [69.62
J/NGE [ AR 125100 | T pisss 4 Hil [188 [85.74 [69.59
JSCHE B 125100 | TRis E4HE [191 [83.38 [69.58
Elcre s BT 125100 |Tpisss EAHE [192 [82.60 [69.58
R SRR 125100 | T.Risssd JE4HE [179 |92.66 |69.56
R | PR 125100 | T pisss JE4HiE [190 [84.08 [69.56
gl | ERER 125100 | TRiss E4HiE [184 [88.65 [69.53
AT [ 125100 | Tpisss JE4Hi [184 [87.95 [69.32
EST B 125100 | TRiss E4HE [186 [86.02 [69.21
REEL | PEER 125100 | T pisss E4HE [176 [93.77 [69.20
TR B AR 125100 | Tpisssd JE4HE [184 [87.26 [69.11
FEID B H 2R T 125100 | T pisss 4 Hi [185 [86.43 [69.10
A2 B AR 125100 | Tpisssd JE4HE [176 93.35 |69.07
FRAE B H 2R T 125100 | Tpisss E4Hi (187 [84.77 [69.06
PR B 125100 | TRism E4HiE [188 [83.80 [69.01
X &g BN 125100 |Tpisss EAHE [193 [79.92 [69.01
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K AR 125100 | TRis E4HE [176 93.13 [69.01
P | EERER 125100 | Tpisss 4 Hi [185 [85.88 [68.93
L B 125100 | TRgss 4 HEl [184 [86.57 [68.90
SR [ REAER 125100 | Tpisss EAHE [177 [91.97 [68.89
IVEHE  [EESER 125100 | TR 4 HEl [187 [84.08 [68.86
e BT 125100 | T pisss E4Hi [184 [86.43 [68.86
A AR 125100 | TRis E4HE [180 [89.48 [68.84
WEEA B H2ER 125100 |Tpisss E4Hi [184 [86.02 [68.74
AR R AR 125100 | TRgss E4HE [176 |92.25 [68.74
RS [EHERN 125100 | Tpisss EAHE [179 [89.75 [68.69
5K B AR 125100 | T.Risssd JE4HE [182 [87.40 |68.69
BRE [ 125100 | Tpisss E4Hi [188 [82.69 [68.67
WA |ERER 125100 | TR E4HE [181 [88.09 [68.66
EEpa | REER 125100 | T pisss E4Hi [182 [87.26 [68.64
FRACP  [E AR 125100 | TRis JE4HE [191 [80.20 [68.63
5% B H 2R T 125100 | T pisss E4Hib [186 [83.96 [68.59
sRIRAK [ RSB 125100 | TRis E4HE [180 [88.51 [68.55
FEH [EHY 125100 | Tpisss JE4Hi# [178 [90.03 [68.54
P R 125100 | TRiss E4HE [179 [89.20 [68.53
R | AR 125100 | Tpisss E4Hi# [176 [91.55 [68.53
gkl | REE R 125100 | T.Risssd JE4HEl [184 [85.05 |68.45
et Ea T 125100 | T pisss 4 Hi [184 [85.05 [68.45
HEoaw | EHER 125100 | TRis E4HE [175 [91.90 [68.40
BInY B HERE 125100 |Tpisss EAHE [191 [79.37 [68.38
sRiEAR [ EEEERR 125100 | TRgss E4HE [178 [89.06 [68.25
MAR B H 2 T 125100 | T pisss JE4Hit [184 [84.22 [68.20
BIEM B HER 125100 | TRiss E4HE [189 [80.20 [68.16
J7 CHE | BERER 125100 | Tpisss EAHE [177 [89.48 [68.14
=B B 125100 | TRiss 4 HEl [182 [85.46 [68.10
. B 125100 | T pisss E4Hi [186 [82.28 [68.08
2B B 125100 | T.Riss E4HE [175 [90.72 [68.05
Gy A B 125100 | T pisss E4Hib [178 [88.30 [68.02
Mrtkar | BB 125100 | TRis E4HE [198 [72.10 [67.83
AT | ERRER 125100 | Tpisss E4HE [186 [81.31 [67.79
i B AR 125100 | Tpisssd JE4HEl [184 [82.55 |67.70
MBS BERER 125100 |Tpisss E4HiE [176 [88.78 [67.70

% 64 7, 3157 71
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RIET |EBAER 125100 | Tpisssd E4HE [180 [85.46 [67.64
sKPHF | RERER 125100 | Tpisss E4Hi [185 [81.58 [67.64
AN N =g S 125100 | TRisssd E4HE [175 [89.20 [67.59
WES  [EHER 125100 | Tpisss EAHE [179 [86.02 [67.57
R |ERAER 125100 | TRisss JE4HiH 177 |87.40 |67.52
FMENN SRR 125100 | T pisss E4HE [175 [88.71 [67.45
Tk AR 125100 | TRisssd 4 HEl [180 [84.77 [67.43
SR | RERER 125100 |Tpisss 4 Hi [183 [82.28 [67.38
AR |EHEERR 125100 | T.Risssd JE4HE [181 [82.69 |67.04
B B H 2E T 125100 | Tpisss E4HiE [176 [86.57 [67.04
JELL e 125100 | T.Risssd E4HE [176 [86.43 [67.00
IR | REER 125100 | Tpisss E4HE [177 [85.60 [66.98
R B AR 125100 | T.Risssd JE4HE [182 [81.45 |66.90
ZEE  |[EEk 125100 | T pisss 4 Hib [180 [82.97 [66.89
skEA AR 125100 | TRisssd E4HE [178 [84.22 [66.80
e B H 2R T 125100 | T pisss JE4Hib [181 [81.86 [66.79
HEE AR 125100 | Tpisssd E4HE [190 [74.80 [66.77
sk 5k B H 2E T 125100 | Tpisss JE4HiE [180 [82.49 [66.75
miberr SRR 125100 | T.Risssd JE4HE [179 [83.25 |66.74
we B H 2R T 125100 | Tpisss E4HiE [176 [85.46 [66.70
JHZ e SR 125100 | T.Risssd 4 HE (177 |84.49 |66.65
R B 125100 | T pisss E4HiE [178 [83.66 [66.63
BAEI BB 125100 | TRisssd E4HE [179 [82.83 [66.62
R B 125100 |Tpisss E4Hi# [175 [85.88 [66.60
¥ i1 AR 125100 | T.Risssd E4HE [180 [82.00 [66.60
SR | AR 125100 | T pisss EAHE (177 [84.22 [66.57
AR =g i 125100 | T.Risssd E4HiE [186 [76.18 [66.25
I | ERRER 125100 | Tpisss E4HE [176 [83.94 [66.25
IRITA SRR 125100 | T.Risssd E4HE [194 [69.57 [66.14
SR e BT 125100 | T pisss E4HiE [178 [82.00 [66.13
IS R 125100 | Tpisssd 4 HE [181 [79.30 [66.02
L) B H 2R T 125100 | T pisss E4HiE [180 [79.30 [65.79
R | BEER 125100 | Tpisssd E4HE [175 [82.28 [65.52
s BN 125100 | Tpisss EAHE [175 [82.14 [65.48
FiR B 125100 | Tpisssd 4 HE [175 [82.00 [65.43
S | AR 125100 |Tpisss EAHE [181 [77.25 [65.41
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" . MERRE |, FREY |9 1B |HE .
w3 PASK AV PR W ASFELE Bt e e e #=F
i KM | REAERE 125100 | Tpisssd JE4HE [176 |78.40 |64.59
N B H 2R T 125100 | Tpisss E4HE [175 [78.40 [64.35
bEoes | 125100 | TRisssd E4HE (233 [95.50 [83.02 |[EMBA
JTEEE B 125100 | Tpisss E4HH [215 [95.50 [78.82 [EMBA
a1 |EBEER 125100 | TRisssd E4HE [220 [86.50 [77.28 |[EMBA
PO BB 125100 | T pisss 4 HE [207 [95.50 |76.95 |[EMBA
LA SRR 125100 | TRisssd E4HiE [205 [95.50 [76.48 |[EMBA
Hra X | BEERER 125100 |Tpisss EAHE [212 [86.50 |75.42 |EMBA
ARE BN 125100 | T.Risssd E4HE (212 [86.50 |75.42 |[EMBA
FRAFER | BB 125100 | Tpisss E4HE [209 [88.20 [75.23 |[EMBA
X EAE [EER 125100 | T.Risssd E4HE [205 [91.00 [75.13 |[EMBA
Phar B R 125100 | Tpisss 4 HEl [205 [86.50 |73.78 |EMBA
BN B 125100 | T.Risssd E4HE [196 [91.00 [73.03 |[EMBA
JIkEZE | PEER 125100 | T pisss dE4HEl [190 [95.50 [72.98 |[EMBA
B ik AR 125100 | TRisssd E4HiE [200 [86.50 [72.62 |[EMBA
TR B 125100 | T pisss E4HE [217 [73.00 |[72.53 |[EMBA
M B AR 125100 | Tpisssd JE4HH [185 [95.50 [71.82 [EMBA
EEA B 125100 | Tpisss 4 HH| [185 [95.50 |71.82 [EMBA
SIS e 125100 | T.Risssd 4 HH [185 [95.50 [71.82 [EMBA
b O 125100 | Tpisss E4HH [196 [86.50 |71.68 |[EMBA
AR | R 125100 | T.Risssd JE4HE [190 {91.00 [71.63 |[EMBA
Mo | PR 125100 | T pisss dE4HE [183 [95.50 |[71.35 [EMBA
REE SRR 125100 | TRisssd JE4H#l [206 [77.50 |71.32 [EMBA
e B H 2R T 125100 |Tpisss dE4HEl [193 [86.50 [70.98 |[EMBA
XI) g AR 125100 | T.Risssd E4HE [193 [86.50 [70.98 |[EMBA
15k B H 2 T 125100 | T pisss 4 HE [187 [91.00 [70.93 |[EMBA
R |ERER 125100 | T.Risssd JE4HH [198 [82.00 [70.80 [EMBA
SEE B 125100 | Tpisss E4HEl [192 [86.50 [70.75 |[EMBA
JFBRE | AR 125100 | T.Risssd E4HE [186 [91.00 [70.70 |[EMBA
& B H 2R T 125100 | T pisss dE4HE [192 [86.00 [70.60 [EMBA
S g 125100 | Tpisssd E4HE [197 [82.00 [70.57 |[EMBA
kT | ERRER 125100 | T pisss dE4HEl [195 [83.40 [70.52 |[EMBA
U BB 125100 | Tpisssd E4HE [191 [86.50 [70.52 |[EMBA
FH 5% B H 2R T 125100 | Tpisss E4HE [179 [95.50 [70.42 |[EMBA
sKOCEH | R 125100 | TRisss JE4Hi# |202 |[77.50 [70.38 |EMBA
IS B H 2R T 125100 |Tpisss dE4HE [178 [95.50 [70.18 |[EMBA
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" . MERRE |, FREY |9 1B |HE .
w3 PASK AV PR W ASFELE Bt e e e #=F
F 4 AR 125100 | TRis E4HE [183 [91.00 [70.00 |[EMBA
XREEL [ AR 125100 | Tpisss E4HEl [177 [95.50 [69.95 [EMBA
PREH AR 125100 | TRisssd JE4Hb| [186 [88.20 [69.86 [EMBA
ERE B 125100 | Tpisss 4 HE [188 [86.50 [69.82 [EMBA
IR g S e 125100 | TRisssd JE4HEl [182 [91.00 [69.77 [EMBA
AT |EPRER 125100 | T pisss E4HE [187 [86.50 [69.58 [EMBA
BER |EHR 125100 | TRis E4HiE [187 [86.50 [69.58 |[EMBA
AT I kg e 125100 |Tpisss JE4HEl [181 [91.00 [69.53 |[EMBA
5K Fe AR 125100 | TRgss E4HiE [186 [86.50 [69.35 |[EMBA
AT E] | EEAER 125100 | Tpisss dE4HHl [203 {73.00 [69.27 |[EMBA
Tl |EREER 125100 | TRiss 4 HEl [197 [77.50 [69.22 |[EMBA
R | PRER 125100 | Tpisss dE4HE [185 [86.60 [69.15 [EMBA
g B 125100 | TR E4HE [185 [86.50 [69.12 |[EMBA
XA | HAER 125100 | T pisss E4HE [179 [91.00 [69.07 [EMBA
BRALM | BB 125100 | TRisssd JE4HE [198 {76.00 [69.00 [EMBA
P B H 2R T 125100 | T pisss E4HH [196 [77.50 |68.98 |[EMBA
T AR 125100 | TRis E4HE [180 [89.90 [68.97 |[EMBA
(RS B H 2E T 125100 | Tpisss E4HEl [189 [82.60 [68.88 [EMBA
Mt B AR 125100 | T.Risssd JE4HE [178 [91.00 [68.83 [EMBA
BA AR 125100 | Tpisss dE4H#Hl [183 [87.00 [68.80 [EMBA
PMVEERT [ SRR 125100 | TRiss E4HiE [184 [85.80 [68.67 |[EMBA
FUNE R 125100 | T pisss 4 HE [183 [86.50 [68.65 |EMBA
D = =2 T 125100 | TRis 4 HEl [177 [{91.00 |68.60 [EMBA
skl [ REAER 125100 |Tpisss dE4HE [177 [91.00 |68.60 [EMBA
FIRF BN 125100 | TRgss 4 HEl [177 [{91.00 |68.60 [EMBA
7k & B H 2 T 125100 | T pisss E4HEl [194 [77.50 |68.52 [EMBA
Dme | BER 125100 | TRiss E4HE [190 [80.00 [68.33 |[EMBA
Zt | EPRER 125100 | Tpisss dE4H%| [185 [83.80 [68.31 |[EMBA
A B 125100 | TRiss E4HiE [187 [82.00 [68.23 |[EMBA
HE IR | SRR 125100 | T pisss 4 HE [187 [82.00 [68.23 |[EMBA
JHTEmg  [E R 125100 | T.Riss E4HE [181 [86.50 [68.18 |[EMBA
fal P+ B H 2R T 125100 | T pisss E4HE [181 [86.50 [68.18 [EMBA
KRG [EEER 125100 | Tpisssd JE4H#l [187 [81.60 [68.11 [EMBA
NI B H 2R T 125100 | Tpisss dE4HEl [197 [73.00 |67.87 [EMBA
Prartt  |EEERR 125100 | Tpisssd JE4H#l [185 [82.00 |67.77 [EMBA
URERIE AR 125100 |Tpisss E4HE [179 [86.50 [67.72 |EMBA
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MERIE

FREBES]

i

il

w3 PASK AV PR W ASFELE Bt e e e #=F
GRE AR 125100 | Tpisssd E4HE [187 [80.30 [67.72 |[EMBA
L3St B H 2R T 125100 | Tpisss E4HE [184 [82.60 [67.71 |EMBA
o | 125100 | TRisssd JE4HH [196 [73.00 [67.63 [EMBA
AR | BERRERE 125100 | Tpisss E4HEl [190 [77.50 |67.58 |EMBA
B B 125100 | TRisssd E4HE [184 [82.00 [67.53 |[EMBA
YRR | BERE R 125100 | T pisss E4HE [178 [86.50 |67.48 |EMBA
B SR 125100 | TRisssd JE4HEl [182 [82.40 |67.19 [EMBA
FAvHE | EEER 125100 |Tpisss E4HE [188 [77.50 [67.12 |[EMBA
XTFR SR 125100 | T.Risssd E4HiE [187 [77.50 [66.88 |[EMBA
Micie | ERRER 125100 | Tpisss E4HE [187 [77.50 |66.88 [EMBA
SENED [ BEEERR 125100 | T.Risssd E4HE [187 [77.50 [66.88 |[EMBA
TrE  |EHER 125100 | Tpisss E4HE [175 [86.50 |66.78 |EMBA
MEE  [EHER 125100 | T.Risssd JE4HEl [192 [73.00 [66.70 [EMBA
e SRR 125100 | T pisss dE4HE [202 [64.00 [66.33 [EMBA
B9 AR 125100 | TRisssd E4HE [178 [82.60 [66.31 |[EMBA
TR | BEER 125100 | T pisss dE4HEl [190 {73.00 [66.23 |[EMBA
5K H B AR 125100 | Tpisssd JE4HEl [181 |77.50 |65.48 [EMBA
IR B H 2E T 125100 | Tpisss E4HEl [175 [82.00 [65.43 |[EMBA
HE AR 125100 | T.Risssd E4HE [186 [73.00 [65.30 |[EMBA
R | AR 125100 | Tpisss dE4HH| [186 [73.00 [65.30 [EMBA
TR |ERER 125100 | T.Risssd JE4HH [180 [77.50 [65.25 |EMBA
o e B3 125100 | T pisss E4HEl [191 [68.50 [65.12 [EMBA
ik |ERAER 125100 | TRisssd E4HE [179 [77.50 |65.02 [EMBA
xS |ERHER 125100 |Tpisss 4 HE [184 [73.00 |64.83 [EMBA
WRE | E R 125100 | T.Risssd JE4H%] [183 [73.00 [64.60 [EMBA
FH B H 2 T 125100 | T pisss dE4HEl [183 [73.00 |64.60 [EMBA
BREVE SR 125100 | TRisss JE4HiE 177 |77.50 |64.55 |[EMBA
Tl B H 2R T 125100 | Tpisss E4HE [176 [77.50 |64.32 [EMBA
TR B 125100 | T.Risssd E4HE [189 [65.65 [63.80 |[EMBA
NGRS PEERE 125100 | T pisss E4HE [179 [73.00 |63.67 [EMBA
IRERST SR 125100 | Tpisssd JE4H#l [178 [73.00 |63.43 [EMBA
A= B3 125100 | T pisss 4 HE [187 [64.00 [62.83 [EMBA
M BB 125100 | Tpisssd JE4H#l [182 [64.00 |61.67 [EMBA
HAE AR 125100 | Tpisss dE4HE [181 [64.00 [61.43 [EMBA
XIENI [EER 125100 | Tpisssd E4HE [179 [64.00 [60.97 |[EMBA
XEMR [TFENLE S S HEARF B 081200 [iFEANLEIZSH A 4= H il 421 |87.40 |85.16
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MERIE

FREBES]

i

il

N 232, reda N Al g'%é N
P T EAEFE S H AR 081200 [iFHEANLEIZEEFHA 4= H il 428 [84.00 |85.12
o7 [HENRESHEAR SR 081200 [iFEANLEIZEH A 4= H il 420 |86.60 |84.78
B R IFEVEEESHEHAR R 081200 |iHENIEIE S HA 4 Hi#  [417 [85.20 [83.94
7K T TFHEMLEE SHAR % 081200 [iFEANLEIZE5H A 4= H il 402 |91.60 |83.76
K4 TEAEFE S H AR SR 081200 [iFHEANLEIZEEFHA 4= H il 415 |85.40 |83.72
Hgd  [TFENEE S EAR R 081200 [iFEANLEIZSH A 4= H il 408 [88.20 |83.58
Shigl  [TENEEE SEAR SR 081200 |iHENIEIE S HA 4 H4%]  |403 [90.20 [83.48
RE= TFEMLEE SHAR % 081200 [iFEANLEIZEH A 4= H il 405 [89.20 |83.46
Ve % TFENREE S HAR R 081200 |iHENIEIE S HA 4 H4%]  |405 [88.20 [83.16
Misks  [THENEE S EAR SR 081200 [iFEANLEIZ5H A 4= H il 402 [89.40 [83.10
A, TFHEVLEL: SHAR B 081200 |iHENIEIE S HA 4 H4%] |408 [85.60 [82.80
¥ TFHEMLEE SHAR % 081200 [iFEANLEIZEH A 4= H il 392 (92.60 [82.66
BRENS  [THENRIE SEAR 081200 |iHHENIEIE S HA 4 H4%] 410 [83.00 [82.30
{58 TFHEMLEE SHAR % 081200 [iFEANLEIZSH A 4= H il 401 |87.00 |82.24
RifE FENEEESHEHAR R 081200 |iHENIEIE S HA 4= H 394 (89.40 [81.98
s [THENBE S EAR SR 081200 [iFEANLEIZEH A 4= H il 378 [95.60 [81.60
p T EAEE S H AR SR 081200 [iFHEANLEIFEEFHA 4= H il 403 [83.40 |81.44
sk AR SRR R 081200 [iFEANLEIZ5H A 4= H il 373 [96.80 [81.26
FEI [ THENBE S HEAR SR 081200 [iFHEANLEIZEFHA 4= H il 379 [94.00 [81.26
BN [TFEVEE S EAR R 081200 [iFEANLEIZEH A 4= H il 410 |79.20 |81.16
TS AR SRR AR 081200 [iFHEANLEIZEEFHA 4= H il 392 [87.60 [81.16
TR [TEYRESHEAR SR 081200 [iFEANLEIZEH A 4= H il 397 (84.80 [81.02
wHES [HEVBZE SHEAR SR 081200 [iFHEANLEIZEEFHA 4= H il 402 [82.40 [81.00
FLEEMS  [TFEVLE S HARZ R 081200 [iFEANLEIZSH A 4= H il 392 (87.00 [80.98
BT TFENREE S HAR R 081200 |iHENIEIE S HA 4= H 391 [87.40 [80.96
AIkEF [TFEVEBE S HEARZ R 081200 [iFEANLEIZEH A 4= H il 387 (88.80 [80.82
e b TFENRFEE S HAR R 081200 |iHENIEIE S HA 4= H 398 (83.60 [80.80
iR [THENEE S EAR R 081200 [iFEANLEIZEH A 4= H il 393 (85.80 [80.76
FEM  FEVEESHARER 081200 |iHHENIEIE S HA 4= H 396 [84.40 [80.76
Trhi TFHELEE SHAR % 081200 [iFEANLEIZEH A 4= H il 397 (83.80 [80.72
SR FENEEE SRR 081200 |iHENIEIE S HA 4= H 392 (85.80 [80.62
Y [HENRE S EAR R 081200 [iFEANLEIZEH A 4= H il 380 (91.40 [80.62
BNy [FEVBESE AR 081200 [iFHEANLEIZEEFHA 4= H il 356 [85.80 [75.58 [iBf% K2pAd 1 itk
TEH [ HEVRZESHEARER 081200 [iFEANLEIZ5H A 4= H il 342 189.00 [74.58 [iBf% K2pA4 -t itk
T&A  [HEVREESHARER 081200 |iHENIEIE S HA 4= H 345 (85.80 [74.04 [:Bf KA+ itk
sy [ ENLRE SR 081200 |itHHLEEEHA AHH [312 [86.60 [69.66 [EBASA: - itk
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" . BEIE |, . FREY |9 1B |HE R
JFZ W FEVEEESHEHAR R 081200 |iHENIEIE S HA 42 H4%]  |415 [88.00 [84.50 [s®ZEit+i
B ] TFHELE S SHAR % 081200 [iFEANLEIZEH A 4= H il 401 [91.60 [83.62 |7 it
AYld  [THENLEE S ER R 081200 [iFHEANLEIZEEFHA 4= H il 355 (82.80 [74.54 |s&7%11%)
AFxZ  |[THENEBESEAR R 081200 [iFEANLEIZE5H A 4= H il 320 |[77.40 [68.02 |3®%11%1
FhERE  [TFENREE S HEAR R 083500 |%ft T/ 4= H il 393 [86.80 [81.06
s [FENEE S EAR R 083500 |%fF T 4= H il 393 [85.20 [80.58
REHE [T ENEE S EAR R 083500 |%ft T/ 4 H4%]  |400 [81.80 [80.54
Rz |[HEVRZESHEHARER 083500 |%fF T 4= H il 399 [82.20 [80.52
EiRis T EAEE S H AR 083500 |%fFT.H% 4= H 386 [88.00 [80.44
BYAE FENLEE S HAR AR 083500 |%fF i 4 H%l  |400 [81.00 {80.30
ok [THEVRE S EAR R 083500 |%fFT.5% 4= H 387 [87.00 [80.28
ZEH [FENEREESHEAR AR 083500 |%ft T 4 H%l  |409 [76.40 [80.18
XKL FENEE S H AR 2R 083500 |%ft T/ 4= H il 384 (88.00 [80.16
SR [TFEVEESHEAR SR 083500 |%fF T 4= H il 391 [84.40 [80.06
HEE  [HENREESHEHARER 083500 |%ft T/ 4= H il 382 (88.40 [80.00
Y [HEVEE SHEHARER 083500 |%ft i 4= H il 393 [83.20 [79.98
R [ ENEE SE AR 083500 |%ft T/ 4= H il 384 [87.00 [79.86
REM I ENREE S ER B 083500 |%fF i 4= H il 389 [84.60 [79.84
iRk [TFENREE S HAR R 083500 |%ft T/ 4= H il 390 (83.80 [79.74
T2 [HEVRZESHEAR SR 083500 |%fFT#E 4= H il 398 (80.00 [79.72
TREREE  [THENLRIEE SHEAR 083500 |%ft T/ 4= H il 388 [84.00 [79.52
Xl [TFEVE S S HEARF R 083500 |%fF T 4= H il 393 [81.60 [79.50
Uk [TFENLRREE S HEAR R 083500 |%ft T/ 4= H il 383 [86.20 [79.48
wEsEE [FEVE S HEAR SR 083500 |%fF T 4= H il 374 [89.40 [79.18
Wi TFENREE S HAR R 083500 |%ft T/ 4= H il 383 [84.80 [79.06
[k TFEMLE S SHARZ 083500 |%fF i 4 H il 387 [82.60 [78.96
ZEF  [HEVRESHEARER 083500 |%fFT.#% 4= H 376 |79.60 [76.52
54T TFEMLEE SHARZ B 083900 |&& =% H) 2t 4 4= H il 379 (93.40 [81.08
sk [T ENUREE SER SR 083900 |[W%& 2% ] ‘2 4= 4= H 374 [93.80 [80.50
WRA | ENEEESHARE 083900 |MI&& 2% A %4 4= H il 393 [83.40 [80.04
IR FENLR R S HAR R 083900 |[W&& 2% ] ‘2 4= 4= H 392 (83.20 [79.84
BT [FEVE S SHEAR R 083900 |4& =% n) 22 4 4= H il 399 (79.40 [79.68
T [FENREESHEHAR R 083900 | &% 2% ] ‘2 4= 4= H 396 (79.00 [79.14
2 [EVEESHEAR SR 083900 |&& =% 0) 22 4 4= H il 368 [82.20 [76.18
B AR SRR AR 083900 |[IM%% 2% [h) % 4= 4= H 367 [82.20 [76.04
H Aol TFEMLEE SHAR % 083900 |MI&& 2% |A] %4 4= H il 377 |77.40 |76.00
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" . BEIE |, . FREY |9 1B |HE R
Vit T EAEFE S H AR 083900 |[IM%% 2% [r) 24 4= H 371 |76.00 [74.74
! TFHELE S SHAR % 083900 |4& =% n) 22 4 4= H il 373 |74.40 |74.54
HAF FENRE S HAR R 083900 | &% 2% ] ‘2 4= 4= H 322 (79.20 [68.84 [:Bf KA+ itk
ERFE  |[HEVERZESHEHARZER 083900 |MI&& 2% |A] %4 4= H il 351 |88.80 |75.78 |ME% 1%
XIERE  TFENEE S HAR R 083900 |[¥%& 2% ] ‘2 4= 4= H 312 [81.20 [68.04 |3R% it %
R THENR R SRR R 085400 |15 E 4 H%l  |428 [87.20 [86.08
2T HENR SRR AR 085400 |[H TR 4= H 418 |91.20 |85.88
b [THENEBE S EAR SR 085400 |15 E 4 H%  |419 [87.80 [85.00
REE TFENREE S HAR R 085400 |HL 15 4 H4%]  |407 [87.60 [83.26
KEFE|HHENEBFESHEAR SR 085400 |15 E 4 H%l  |402 [88.00 [82.68
R AR S EOR R 085400 |[H TR 4= H 406 ([85.00 [82.34
HFEM [FEVEE SEAR R 085400 |15 E 4 H%l (408 [83.20 [82.08
R TFENREE S HAR R 085400 |HL 152 4 H4%] |406 [83.40 [81.86
fI—3E [FEYEEESHEHAR AR 085400 |15 E 4= H il 391 [89.40 [81.56
THE  [THEVRZE SHEAR R 085400 |[H TR 4= H 399 [85.40 [81.48
R [FENEREESHAR R 085400 |15 E 4 H%l  |400 [84.80 [81.44
X HE T EAEE S H AR SR 085400 |[H TR 4= H 407 [81.20 |81.34
ARk HFEYLEEE S HAR AR 085400 |15 E 4= H il 398 [84.40 [81.04
W [TENREE S ER SR 085400 |HL 152 4= H il 382 [91.40 [80.90
B [THENEE S EAR R 085400 |15 E 4 H%  |407 [79.40 [80.80
B T EAEFE S H AR 085400 [H TR 4= H 401 [82.00 |80.74
XNFER [FEVEE SHEAR SR 085400 |15 E 4= H il 396 [83.00 [80.34
Bt e [ ENURE SER S 085400 |HL 152 4= H il 383 [88.60 [80.20
el [rENR SRR 085400 |15 E 4= H il 394 [83.40 [80.18
*5 TFENREE S HAR R 085400 |HL 15 4= H il 398 [81.20 [80.08
PHEE | HEYRESHEARER 085400 |15 E 4 H il 394 [81.60 [79.64
WIEE  [TFEVB SHEAR R 085400 |[H TR 4= H 376 [89.60 [79.52
sk |THENRI SRR R 085400 |15 E 4= H il 377 |88.60 [79.36
X # T EAEFE S H AR S 085400 |[H TR 4= H 387 [83.80 [79.32 |[d iRy
Al [TENEBESEAR R 085400 |15 E 4= H il 391 [81.80 [79.28
EEA [FEVRE S EAR R 085400 [H TR 4= H 380 [85.80 [78.94
e [FEVE S SHEAR SR 085400 [HT5E 4= H il 386 [82.80 [78.88 |l
5K T EAEE S H AR SR 085400 [H TR 4= H 377 [86.60 [78.76 |y Elulisy
REs I ENEEE S EAR R 085400 |[HT5E 4= H il 386 (82.20 [78.70
iR [THEANLR S SRR AR 085400 |[HTEE 4= H 378 [85.80 [78.66
W1 TFEMLEE SHAR % 085400 |[HT5E 4= H il 373 |88.00 [78.62 [ F ekl
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" . BEIE |, . FREY |9 1B |HE R
T T EAEFE S H AR 085400 |[H TR 4= H 382 [83.80 [78.62 [y Relkks
IH- 1 TFHELE S SHAR % 085400 |15 E 4= H il 369 [89.80 [78.60
XIGPBH AR R S HAR R 085400 |HL 152 4= H il 387 [81.40 [78.60 |kmiZalnltsy
BIEE  FEYEESHAR AR 085400 |15 E 4= H il 386 [81.80 [78.58
sk TBE [TFENURIEE SER SR 085400 |HL 152 4= H il 388 [80.80 [78.56 |dkmiZalnltsy
TikH  [THEVEE S HEAR SR 085400 |[HT5E 4= H il 378 |[85.40 |78.54
XEhwk [P EVBE S EAR R 085400 |[H TR 4= H 387 (81.20 [78.54
AR [FEVE S SHEAR R 085400 [HT5E 4= H il 396 |77.00 [78.54 [dimi2FRelkly;
AR [THENLEB S HEAR R 085400 [HTEE 4= H 374 |87.20 [78.52 |[d iR lkks
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AR [ AJUE R 125200 [/ 3L EAHE [212 [87.34 [77.34
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S AR 125200 |AFLEH JE4HEl |215 |85.58 |77.23
Y [AJUE AR 125200 [/ 3L E4HiE [226 [80.04 [77.22
—iF (A LE R 125200 |AFLEH 4 HE [208 [88.84 [77.14
2 N LB 125200 [/ JLE E4HiE [222 [81.84 [77.14
Hirh | AE R 125200 |AFLEH 4 HE |223 [81.14 |77.06
TIE) | AFEH R 125200 [/ 3L E4Hi [228 [78.66 [77.06
mE NP AR 125200 |AFLEH E4HE [213 [86.12 [77.05
o3 NFLAE P 22 125200 [/ 3 E4HiE [218 [83.58 [77.03
g OSSR 125200 |AFLEH JE4HE |214 |85.48 |76.99
i NFLE A 125200 [/ 3L E4Hi [228 [78.44 [76.98
rahE | AILEREEER 125200 |AFLEH JE4HE |216 |84.46 |76.98
PR N LB 125200 [/ JLE E4HE [210 [87.38 [76.95
AR | AR 125200 |AFLEH JE4HE [219 [82.86 |76.94
i NFLE A 125200 [/ 3L E4HE [213 [85.84 [76.94
diEs | AIEEE 125200 |AFLEH JE4HE [212 |86.28 |76.91
b | AL AR 125200 [/ 3L EAHE [226 [79.28 [76.91
Ky | AFLE AN 125200 |AFLEH JE4HE [221 [81.72 |76.89
RIR [ AJE B 125200 [/ 3L E4HE [213 [85.70 [76.88
AIiE OSSR 125200 |AFLEH JE4H#l |207 |88.68 |76.87
EREE [ AJLE B 125200 [/ 3L E4Hi [224 [80.04 [76.82
N AL S e 125200 |AFLEH JE4HEl |207 |88.54 |76.82
R BT 125200 [/ 3L E4Hi [225 [79.54 [76.82
BRI | AIEHS 125200 |AFLEH JE4HE |216 |84.06 |76.82
EkER Ve BT 125200 [/ 3L EAHi [228 [77.94 [76.78
ERET | AFEE AN 125200 |AFLEH JE4HEl |218 [82.88 |76.75
RS [A LR 125200 [/ 3L E4HE (211 [86.38 [76.75
EE | AILE AR 125200 |AFLEH JE4HE [220 |81.86 |76.74
K N LB 125200 [/ 3L EAHE (211 [86.32 [76.73
S I8 SLAE L 125200 |AFLEH JE4HE [211 |86.28 |76.71
MEoris | AL AR 125200 [/ 3L 4 Hil [207 [88.20 [76.68
THH | AEH R 125200 [/ Jbes s E4HE [212 [85.70 [76.68
TRE | AIE AR 125200 [/ 3L EAHE (211 [86.16 [76.66
SR | AEH R 125200 |AFLEH JE4HE |218 [|82.64 |76.66
S NFLE A 125200 [/ 3L E4HE [216 [83.48 [76.59
S | AIE R 125200 |AFLEH JE4HE [210 |86.44 |76.58
G e BT 125200 [/ 3L EAHE [219 [81.96 [76.58
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N AL e 125200 |AFEH E4HE [219 [81.92 [76.57
AE [ AJE BB 125200 [/ 3L E4HE [218 [82.38 [76.55
R N B PR 125200 [/ 3 E4HE [214 [84.38 [76.55
T VA = e 125200 [/ JLE E4HE [215 [83.82 [76.53
XA [ AL SRR 125200 |AFLEH JE4HE [219 [81.82 |76.53
B NFLE A 125200 [/ 3L E4HE [221 [80.74 [76.50
Wit | AFE AR 125200 |AFLEH JE4HE |223 |79.76 |76.50
2] NFLE A 125200 [/ 3L EAHiE (228 [77.18 [76.47
e I AT g e 125200 |AFLEH JE4HE [211 |85.66 |76.46
BRI | AJLE PSR 125200 [/ 3L E4HE [210 [86.10 [76.44
LTRSS AR 125200 [/ Jhes s E4HE (216 [83.00 [76.40
Mk [ AJLE B 125200 [/ JLE EAHE (212 [84.96 [76.38
ki NP AR 125200 |AFLEH JE4HE |225 |78.46 |76.38
Xt NFLE A 125200 [/ 3L E4HE [214 [83.96 [76.38
XN (AL PR 125200 |AFLEH JE4HE |235 |73.42 |76.37
sKRFRE [ AU BB 125200 [/ 3L E4HiE [216 [82.88 [76.35
£z NP AR 125200 |AFLEH JE4HE [213 |84.36 |76.34
KEH [ AIE AR 125200 [/ 3L E4HE [215 [83.36 [76.34
Wik OSSR 125200 |AFLEH JE4HE [215 [83.28 |76.31
FeiE [ AJUE AR 125200 [/ 3L E4HE [215 [83.22 [76.29
MERRL | AL AR 125200 |AFLEH 4 HE [216 [82.70 |76.28
FER [ AIE B 125200 [/ 3L EAHiE [222 [79.58 [76.23
= AP = 125200 |AFLEH JE4HE [213 |84.04 |76.22
T K | LB AR 125200 [/ 3L EAHE (211 [84.96 [76.18
skigEE | AFE AR 125200 [/ Jhes s E4HE (212 [|84.44 [76.18
WA [AJUE B 125200 [/ 3L E4HiE [220 [80.40 [76.16
RRE AL AR 125200 [/ Jbe s E4HE [211 [84.90 [76.16
HELE | AJLE PSR 125200 [/ 3L E4Hi [206 [87.34 [76.14
LN I8 SLAE L 125200 |AFLEH JE4HE [219 [80.72 |76.09
Xl It NFLE A 125200 [/ 3L E4Hi [208 [86.12 [76.05
SR | AFLE AR 125200 |AFLEH JE4HE [217 |81.50 |76.00
KFH | AIE B 125200 [/ 3L E4Hi (233 [73.42 [75.97
e AP = e 125200 |AFLEH JE4HE [208 [85.86 [75.94
mg | AJE AR 125200 [/ 3L EAHE [214 [82.86 [75.94
ERUNPE [ AL AR 125200 |AFLEH JE4HE |207 [86.32 |75.93
HEP [ AJE B 125200 [/ 3L E4HE (213 [83.30 [75.92
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AT | I AER 125200 | AL EAHE (211 [84.26 [75.90
TR | AIEFS 125200 |AFLEH JE4HE [213 [83.24 |75.90
WU [ AJUE BB 125200 [/ JLE E4Hi [204 [87.72 [75.89
F iy NP AR 125200 |AFLEH 4 HE [209 [85.10 [75.84
it 7 NFLE A 125200 [/ 3L E4HE [215 [82.08 [75.83
VLI NP AR 125200 |AFLEH JE4HEl |207 |86.08 |75.83
PR [ A LSRR 125200 [/ 3L EAHE [225 [77.02 [75.81
HRE | AEHR 125200 |AFLEH 4 HE [205 [86.90 [75.76
M NFLE A 125200 [/ 3L EAHE [220 [79.24 [75.70
CRiE A8 125200 |AFEH E4HiE [206 [86.16 [75.66
FEE A IE AR 125200 [/ JLE EAHE (212 [83.12 [75.65
el | AE SR 125200 |AFLEH JE4HE [220 |79.08 |75.63
Aradh [ AJUE AR 125200 [/ 3L E4Hi [206 [86.06 [75.62
fff 85y | AFLE AR 125200 |AFLEH JE4HEl [215 [81.56 |75.62
it [AJE AR 125200 [/ 3L EAHE [214 [82.02 [75.61
BRI [ AL PR 125200 |AFEH E4HE [212 [82.98 [75.59
0t NFLE A 125200 [/ 3L EAHE (212 [82.96 [75.58
“FEE N FLET H 2B 125200 |AFEH E4HE [214 [81.90 [75.56
TNE | AEH R 125200 [/ 3L 4 Hil [203 [87.34 [75.54
AL | AFEH R 125200 |AFLEH JE4HEl |203 [87.22 |75.49
BN | AFEH R 125200 [/ 3L E4Hi [204 [86.70 [75.48
FhER N FLET H 2B 125200 |AFEH E4HE [211 (83.14 [75.46
EE A VAL e 125200 [/ 3L EAHE (215 [81.14 [75.46
BENY (AL AR 125200 |AFLEH 4 HE |222 |77.60 |75.44
FR I NFLE A 125200 [/ 3L E4HE [210 [83.60 [75.44
e NP AR 125200 |AFLEH JE4HE |224 |76.58 |75.43
PR | AIE AR 125200 [/ 3L E4Hi# [216 [80.58 [75.43
FEvAL | AL AR 125200 |AFLEH JE4HE [215 [81.06 |75.42
=EE [ AJUE AR 125200 [/ 3L JE4HE [210 [83.48 [75.39
TRRE | AL AR 125200 |AFEH E4HEl [216 [80.44 [75.38
gl NFLE A 125200 [/ 3L E4HiE [209 [83.94 [75.38
i I8 SR 125200 |AFLEH JE4HE [211 82.74 |75.30
AR | AE IR 125200 [/ 3L E4HE [215 [80.72 [75.29
5K Vi N AR 125200 |AFLEH JE4HE [212 [82.18 |75.27
&7 NFLE A 125200 [/ 3L E4H# [215 [80.58 [75.23
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EITR [ AFEEEER 125200 |AFEH E4HE (216 [80.00 [75.20
Br—il | AJLE PR 125200 [/ 3L E4Hi [204 [85.98 [75.19
] N B PR 125200 [/ 3 E4HE [209 [83.46 [75.18
& hp N LB 125200 [/ JLE EAHE [210 [82.96 [75.18
FE NP AR 125200 |AFLEH JE4HE [208 [83.84 [75.14
IH-f NFLE A 125200 [/ 3L E4Hi [207 [84.36 [75.14
A | AEE AR 125200 |AFLEH JE4HE [211 [82.32 |75.13
&5 NFLE A 125200 [/ 3L EAHE [220 [77.78 [75.11
PRZE N FLET H 2B 125200 [/ Jhes s E4HE [215 [80.28 [75.11
RIS NFLE A 125200 [/ 3L E4HiE [209 [83.14 [75.06
Y ¥y N FLET H 2 125200 [/ Jhes s 4 HEl [204 [85.62 [75.05
Ak N LB 125200 [/ JLE E4HE (211 [82.08 [75.03
A ULE | A AR 125200 |AFLEH JE4HEl [218 |78.52 |75.01
Mk s | AFEH R 125200 [/ 3L E4Hi [203 [86.02 [75.01
FrRiesk [ A ILE SRR 125200 |AFLEH JE4HE [221 |76.98 |74.99
FHIEA [ AJUE AR 125200 [/ 3L E4Hi [207 [83.98 [74.99
= NP AR 125200 |AFLEH JE4HE |207 [83.96 |74.98
o [ AFLE R 125200 [/ 3L E4HiE [209 [82.92 [74.97
gkERE | A 125200 |AFLEH JE4HE [212 81.36 |74.94
TaHE | AFEH R 125200 [/ 3L E4HiE [209 [82.82 [74.93
JEZR | AFEE RN 125200 |AFLEH 4 HE [204 [85.14 [74.86
FhES | A HE AR 125200 [/ 3L 4 Hil [203 [85.64 [74.86
HEEE | AR 125200 [/ Jhes s E4HiE [208 [83.08 [74.83
A [ AJUE B 125200 [/ 3L E4HiE [209 [82.54 [74.82
HET | ALEHAER 125200 |AFLEH JE4HE [212 [81.02 |74.81
LR | AJLE RSB 125200 [/ 3L E4Hi [206 [84.00 [74.80
[ZHN N FLET H 2B 125200 [/ Jbe s E4HiE [203 [85.48 [74.79
R AJE AR 125200 [/ 3L E4Hi [208 [82.94 [74.78
G NP AR 125200 |AFLEH JE4HE [209 [82.40 |74.76
Ry NFLE A 125200 [/ 3L EAHE (217 [78.32 [74.73
R [ALE AR 125200 |AFLEH 4 HE |218 |77.68 |74.67
A | AE R 125200 [/ 3L 4 Hi [203 [85.18 [74.67
R I8 SR 125200 |AFLEH JE4HH [213 [80.12 [74.65
GRS NFLE A 125200 [/ 3L E4HiE [220 [76.60 [74.64
B N AR 125200 |AFLEH JE4HE [211 |80.98 |74.59
BN BT 125200 [/ 3L EAHE (213 [79.96 [74.58
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AT [ A IRE SRR 125200 |AFLEH 4 HE |215 |78.92 |74.57
sREEIH [ AU BEAER 125200 [/ 3L E4Hi [206 [83.20 [74.48
i ik [ AL AR 125200 |AFLEH JE4HE |208 [82.18 |74.47
[ R N LB 125200 [/ JLE EAHE [214 [78.90 [74.36
KEET | AFEF AN 125200 |AFLEH JE4HE [210 [80.84 |74.34
REE [ AIE AR 125200 [/ 3L E4Hi [206 [82.74 [74.30
PR [A LR 125200 |AFLEH JE4HE [211 |80.06 |74.22
SHm [ AJE AR 125200 [/ 3L E4HE [213 [78.96 [74.18
EAE | ALE AN 125200 |AFLEH JE4HE |207 [81.96 |74.18
FRE NFLE A 125200 [/ 3L E4HE (216 [77.38 [74.15
T2 | AFE AN 125200 |AFLEH 4 HE |217 |76.86 |74.14
MR | AJLE SRR 125200 [/ JLE 4 Hi [203 [83.82 [74.13
KidE (A LE AR 125200 |AFLEH JE4HE [208 [81.28 |74.11
RHEE([AIE AR 125200 [/ 3L E4Hi [205 [82.76 [74.10
TR | AEHSR 125200 |AFLEH 4 HE |218 |76.26 |74.10
iR NFLE A 125200 [/ 3L E4Hi [204 [83.14 [74.06
Rt N FLET H 2B 125200 [/ 3L E4HE [213 [78.48 [73.99
S5 NFLE A 125200 [/ 3L EAHE [216 [76.94 [73.98
TOOME [ AFEEEER 125200 [/ Jhes s E4HiE [206 [81.88 [73.95
Mo | AJLE RSB 125200 [/ 3L EAHE [210 [79.86 [73.94
VEAS NP AR 125200 |AFLEH JE4H4 [203 [83.28 [73.91
T | AEH R 125200 [/ 3L E4HiE [209 [80.26 [73.90
il A g 125200 [/ Jhes s E4HiE [203 [83.18 [73.87
e | N IR B RE R 125200 [/ 3L E4Hi [204 [82.68 [73.87
WA | AL AR 125200 |AFLEH JE4HE [207 [81.12 |73.85
TEA [ AJE R 125200 [/ 3L E4HiE [205 [82.02 [73.81
Y5 | AFLEHAER 125200 |AFLEH JE4HE |213 |77.96 |73.78
B [ AJE B 125200 [/ 3L E4HiE [206 [81.34 [73.74
IH- [ NP AR 125200 |AFLEH JE4HE [209 [79.68 [73.67
KA NFLE A 125200 [/ 3L E4Hi [207 [80.48 [73.59
Rigim | AFEE AN 125200 |AFLEH JE4HE |223 |72.38 |73.55
R0 [ AJE AR 125200 [/ 3L 4 Hi [203 [82.32 [73.53
T | AE R 125200 |AFLEH JE4HE |218 |74.80 |73.52
BEE | AR 125200 [/ 3L EAHE (217 [75.06 [73.42
ElFlE | ATEI R 125200 |AFLEH JE4HE [213 |76.98 |73.39
e B 125200 [/ 3L E4Hi [204 [81.44 [73.38
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VEINGE | AIE R 125200 |AFLEH JE4HEl |208 [79.12 |73.25
BREIT | AL REEER 125200 [/ 3L EAHE [204 [81.02 [73.21
FEIK [ AFE R 125200 [/ 3 E4HE [205 [80.16 [73.06
PRI N LB 125200 [/ JLE E4Hi [206 [79.58 [73.03
25 N FLT H 2 125200 [/ Jhes s E4HE [206 [79.50 [73.00
SRR | SR AARE 125200 [/ 3L 4 Hi [203 [80.74 [72.90
My | AFLE AR 125200 |AFLEH JE4HE [209 [77.72 [72.89
55 NFLE A 125200 [/ 3L E4HiE [194 [85.08 [72.83
KRG | AE A 125200 | AJLE7HE JE4HiE |204 [79.84 (|72.74
AEE | AL ER 125200 [/ 3L EAHE (218 [72.84 [72.74
TOME | AL R 125200 |AFLEH 4 HE [213 |75.28 |72.71
ZH A ISR AR 125200 [/ JLE EAHE (211 [76.00 [72.60
Wi | AFE AN 125200 |AFLEH 4 HE |207 |77.62 |72.45
TR A JUE AR 125200 [/ 3L JE4HiE [203 [79.40 [72.36
sk | AE AR 125200 [/ Jhes s 4 HE [197 [82.38 [72.35
s [AJE R 125200 [/ 3L E4Hi [208 [76.76 [72.30
skER | AHEE R 125200 |AFLEH E4HE [207 [|77.12 [72.25
BERE | AJE AR 125200 [/ 3L E4HiE [206 [77.40 [72.16
PERVUTE | AL P22 125200 |AFLEH JE4HE [202 [79.28 |72.11
PR [ AR 125200 [/ 3L EAHE [195 [82.74 [72.10
30 OSSR 125200 |AFLEH JE4HEl |205 |77.62 |72.05
il [ AR 125200 [/ 3L EAHE (215 [72.48 [71.99
BEH | AIEHR 125200 |AFLEH 4 HE [200 [79.74 [71.90
RS BT 125200 [/ 3L E4Hi [208 [75.62 [71.85
RSN | AL AR 125200 |AFLEH JE4HE [195 [81.72 [71.69
TEVE NFLE A 125200 [/ 3L JEAHiE [193 [82.44 [71.58
et AU R AR 125200 [/ Jbe s E4HE [190 [83.60 [71.44
AT | AEH R 125200 [/ 3L E4Hi [200 [78.60 [71.44
T | AFLE AR 125200 |AFLEH JE4HE [198 [79.56 [71.42
B A S 125200 [/ 3L EAHE [192 [82.08 [71.23
R | AFLE AN 125200 |AFLEH JE4HE |200 |77.48 |70.99
Mits NFLE A 125200 [/ 3L E4Hib [198 [78.36 [70.94
(B33 N FLET H 2B 125200 [/ 3L E4HE [194 [79.86 [70.74
] NFLE A 125200 [/ 3L E4HiE [195 [78.68 [70.47
WAL | AFEHAER 125200 |AFLEH JE4HEl |206 [72.16 |70.06
BHER | AIE AR 125200 [/ 3L EAHE [195 [77.44 [69.98
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EBAiE [ AEHEER 125200 |AFEH E4HE [193 [78.02 [69.81
A3 NFLE A 125200 | AL EAHE [193 [77.14 [69.46
R | NIVEREER 125200 |AFEH E4HE [196 [75.56 [69.42
FR g N LB 125200 [/ JLE E4Hib [188 [79.28 [69.31
5l H: N FLT H 2 125200 |AFEH 4 HE [187 [78.68 [68.87
skoREE [ AJUE BB 125200 [/ 3L 4 Hi [183 [80.48 [68.79
THE |[ALEHSR 125200 |AFLEH 4 HE (189 |77.42 |68.77
7K NFLE A 125200 [/ 3L E4Hi [188 [77.18 [68.47
By OSSR 125200 |AFLEH JE4H% [185 [78.02 [68.21
B [ AJE AR 125200 [/ 3L E4HE [177 [81.82 [68.13
IR EE [ AR AR 125200 |AFEH E4HiE [188 [76.26 [68.10
e e BT 125200 [/ JLE E4HE [181 [79.74 [68.10
xR VN - 125200 |AFLEH JE4HEl [175 [82.70 |68.08
A% [AIE AR 125200 [/ 3L E4HE [181 [79.64 [68.06
g | AJE AR 125200 |AFEH E4HiE [188 [76.06 [68.02
P [ AJE AR 125200 [/ 3L E4Hi [187 [75.60 [67.64
R [ AL AR 125200 |AFLEH JE4HE [180 |78.94 |67.58
MivE NFLE A 125200 [/ 3L E4Hib [183 [76.78 [67.31
HAE R | ATLE R 125200 |AFLEH JE4HE (181 |77.44 |67.18
BRER | AJLEH SR 125200 [/ 3L EAHE [178 [76.14 [66.06
SRIEZL | AFE AR 125200 |AFLEH 4 HEl [178 |75.68 |65.87
R NFLE A 125200 [/ 3L E4HE [177 [76.00 [65.80
SRR MRS EBRSC b EB 010106 |32 4 H4%]  |405 [88.56 [84.02
miFHE RS E PR 010106 |E* 4 H%l  |401 [88.72 [83.61
2 A4 55 ] s SO 2= Bt 010106 |32 4= H 372 [86.16 [79.10
S MRS E PR 045300 |BUEEPR#E 2 H%  |415 [92.60 [86.84
FEtAE S E bR S0t 2B 045300 |BUEEPR#E 4 H4%] (406 [86.00 [83.12
RiEwR [EES bR S BR 045300 |BUEEPR#E ENEL 371 |87.52 [79.53
BEkE: ARSI bR o B 045300 |BUEEPR#E 4= H 381 [80.64 [77.98
PiLE [EES RSB 045300 |BUEEPR#E 4= H ) 337 [87.40 [75.40 [/>EE Ttk
Rimar RS E bR B 050301 |71l 4= H 391 [91.91 [83.68
SR RS E PR B 050301 |l 4= H 391 [90.97 [83.31
KJBHE RS E BRSO B 050302 [fL#&* 4 H4%] (409 [88.67 [84.55
HREE RS E PR B 050302 |f&4&# 4 H%l  |407 [88.39 [84.20
KER  EESER B 050302 [f:i#&* 4= H 398 [89.20 [83.44
APlg  [EES RSB 050302 |f&4&# 4 H%l  |406 [82.66 [81.78
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J B AR 085500 |HLHK JE4Hi [398 [85.00 [81.22
S e e 085500 |HLi 4 H (379 86.20 [78.92
TR S [ 085500 |HLHK E4Hib (369 [87.60 [77.94
E I b =g 085500 |HLi E4HE (357 [84.60 [75.36
Makg AR 085500 |HLHK 4 Hi (346 [86.20 [74.30
Ry R 085500 [HLHK 4 HE [352 [83.40 [74.30
e [ 085500 |HLHK 4 Hi (345 [85.80 [74.04
XIFOE] (BB 085500 |HLi E4HE (358 [79.00 [73.82
X A4 B 085500 |HLHK 4 Hit (323 [90.40 [72.34
e Rl 085500 [HLHK JE4HE [343 [80.60 [72.20
B i b 085500 |HLHK JE4HE (331 [79.40 [70.16
IR T 085500 |HLi E4HE (328 [70.00 [66.92
A TREJH AR 085400 |15 E 4= H il 357 |79.00 [73.68
R T2 2= Bt 085400 |HL 152 4= H il 352 [80.80 [73.52
PR AN e 085400 [HT5E 4= H il 345 (83.00 [73.20
g TREI =Bt 085400 |[H TR 4= H 359 [78.00 [73.66
EEE R 085400 |15 E 4= H il 357 [69.60 [70.86
PERF | TR 085400 |HL 152 4= H il 348 [68.40 [69.24
TR | TR 085400 |15 E 4 H%  |418 [80.20 [82.58
W | TR R 085400 |HL 152 4= H il 396 (79.80 [79.38
ik | TR 085400 |15 E 4= H il 374 [86.40 [78.28
PaiRfd | TREIMAB 085400 |HL 152 4= H il 391 (78.40 [78.26
miAsA | TR 085400 |15 E 4= H il 386 [80.60 [78.22
EFS T2 2= Bt 085400 |HL 15 4= H il 375 [83.00 [77.40
ForH | TR R 085400 |15 E 4 H il 382 [79.60 [77.36
FH 1S T2 2= Bt 085400 |HL 152 4= H il 359 (87.80 [76.60
KR | TR R 085400 |15 E 4= H il 379 |77.20 [76.22
Bk | TR R 085400 |[H TR 4= H 349 (86.20 [74.72
MRk | DRI AR 085400 [HT5E 4= H il 381 [69.20 [74.10
woavd | LAEIMEERR 085400 [H TR 4= H 371 [89.60 [78.82
BiET | TRImER 085400 |15 E 4= H il 375 [85.40 [78.12
I R 085400 |HL 152 4= H il 350 (77.00 [72.10
B TREJH AR 085400 |15 E 4= H il 362 [89.80 [77.62
Gk | TREIMAERR 085400 |HL 152 4= H il 378 [80.60 [77.10
AR | TR AR 085400 |15 E 4= H il 364 [86.60 [76.94




" . BEIE |, . FREY |9 1B |HE R
Hig% | TREImERE 085400 |HL 152 4= H il 386 [86.80 [75.88
ZMh TREJH AR 085400 |15 E 4= H il 347 |95.00 [79.64
A5 T2 2= Bt 085400 |HL 152 4= H il 342 [95.00 [79.04
Mt | TRRIm AR 085400 |15 E 4= H il 337 [95.00 [78.44
F ik T2 2= Bt 085400 |HL 152 4= H il 354 (83.40 [74.58
R | TR 085400 |15 E 4= H il 352 [82.00 [73.88
e AR A 085400 |HL 152 4= H il 347 |84.20 [73.84
H7d [ TRk 085400 |15 E 4= H il 340 [85.60 [73.28
EERERREIESS 085400 |HL 15 4= H il 346 |75.60 [71.12
EFE | TR 085400 |15 E 4= H il 327 [83.60 [70.86
P A R EET 085400 |HL 152 4= H il 324 [82.00 [69.96
B | TRRIm AR 085400 |15 E 4= H il 324 [80.80 [69.60
WERT | TR AR 085400 |[H TR 4= H 346 [95.00 [79.52
P o AR AT 085400 |[HT5E 4= H il 327 |74.40 [68.10
S T2 2= Bt 085400 |HL 152 4= H il 348 [89.00 [77.36
T8 | TR 085400 |15 E 4= H il 341 [86.00 [75.32
= A T2 2= Bt 085400 |HL 152 4= H il 358 [94.60 [78.50
koo sn | TR AR 085400 |15 E 4= H il 365 [87.80 |77.44
TDERE | TR AR 085400 |HL 152 4= H il 376 [81.00 [76.94
L3 TREJH AR 085400 |15 E 4= H il 372 [82.20 [76.74
FRIRFH | CRRITAERE 085400 [H TR 4= H 374 (81.20 [76.72
FiE | TR R 085400 |15 E 4= H il 372 [80.60 [76.26
YR | TAEIT AR 085400 |[H TR 4= H 351 (84.40 |74.46
AT | TR AR 085400 |15 E 4= H il 377 [86.00 [79.64
Z R T2 2= Bt 085400 |HL 15 4= H il 321 [95.00 [76.52
BEF R | TR R 085400 |15 E 4 H il 336 [89.00 [75.92
kK TREI =Bt 085400 |[H TR 4= H 334 [83.00 [73.28
R TREJH AR 085400 |15 E 4= H il 326 [80.00 [71.12
NIEE ER e 085400 |HL 152 4= H il 324 [65.00 [64.86
Hools | TREIH AR 085400 |15 E 4= H il 356 [84.40 [75.16
KPR | TREI 22 B 085400 [H TR 4= H 377 |74.00 [74.98
hErs | TREITEARR 085400 [HT5E 4= H il 354 (82.80 |74.40
X | TR R 085400 |HL 152 4= H il 353 (83.20 [74.38
F12 TREJH AR 085400 |15 E 4= H il 370 |75.20 [74.36
e AR e 085400 |[HTEE 4= H 352 [83.60 [74.36
S R 085400 |15 E 4= H il 350 [84.00 [74.20




" . BEIE |, . FREY |9 1B |HE R
R | TR AER 085400 |[H TR 4= H 357 [80.60 [74.16
XI) TREJH AR 085400 |15 E 4= H il 355 [81.40 [74.12
KEFE | TREIMR 085400 |HL 152 4= H il 365 [76.60 [74.08
Tk | TR 085400 |15 E 4= H il 356 [80.60 [74.02
REE | TR 085400 |HL 152 4= H il 350 (83.40 [74.02
SRk | TR R 085400 |15 E 4= H il 364 |76.80 [74.00
HFER | TR 085400 |[H TR 4= H 365 [76.20 [73.96
RN | TR 085400 [HT5E 4= H il 366 |[75.60 [73.92
RPREE | TR R 085400 [HTEE 4= H 356 [80.20 [73.90
B TREJH AR 085400 |15 E 4= H il 356 [79.80 [73.78
RS | DRI ER 085400 |HL 152 4= H il 352 [81.60 [73.76
WOk | TAEA R 085400 |15 E 4= H il 356 [79.60 [73.72
PR | AR AR 085400 |[H TR 4= H 363 [76.20 [73.68
i R ST 085400 |15 E 4= H il 351 [81.80 [73.68
+ A T2 2= Bt 085400 |HL 152 4= H il 356 (79.40 [73.66
R TREJH AR 085400 |15 E 4= H il 365 |75.20 [73.66
A | TR 085400 |HL 152 4= H il 362 (76.40 [73.60
Mas | TRRIm2ER 085400 |15 E 4= H il 364 |75.40 [73.58
g T2 2= Bt 085400 |HL 152 4= H il 350 (81.80 [73.54
EHE | TR 085400 |15 E 4= H il 353 [80.40 [73.54
=T TREI =Bt 085400 [H TR 4= H il 375 (83.17 [77.45
R | TR 085400 |15 E 4= H il 368 [70.17 |72.57
I RS ETE 085400 |HL 152 4= H 358 |71.17 |71.47
=A% TREJH AR 085400 |15 E 4= H il 343 |75.67 [70.72
SR | TR AR 085400 |HL 15 4= H il 331 [72.20 [68.00
R R A 085400 |15 E 4 H il 340 [92.00 [77.60
wAERL | LRI AR 085400 |[H TR 4= H 393 [68.00 [74.36
& TREJH AR 085400 |15 E 4= H il 343 |77.00 [71.96
IER | TR 085400 |HL 152 4= H il 372 [68.00 [71.84
NI TREJH AR 085400 |15 E 4= H il 336 [77.00 [71.12
T | TREIMYR 085400 |HL 152 4= H il 322 [80.00 [70.64
[ TREJH AR 085400 |15 E 4= H il 345 |71.00 [69.80
Bl T2 2= Bt 085400 |HL 152 4= H il 333 [83.00 [73.16
N R 085400 |15 E 4= H il 373 [81.20 |76.58
PR | TRRIW AR 085400 |HL 152 4= H il 378 [76.40 [75.84
i TREJH AR 085400 |15 E 4= H il 363 [69.00 [71.52




" . BEIE |, . FREY |9 1B |HE R
IR | DRRImAERE 085400 |[H TR 4= H 344 |77.33 [71.36
THE [ TR 085400 |15 E 4= H il 383 [76.60 [76.60
5K T2 2= Bt 085400 |HL 152 4= H il 377 [79.00 [76.48
N A R 085400 |15 E 4= H il 377 |78.80 [76.42
iy | TAEIMEER 085400 |[H TR 4= H 383 [75.60 [76.30
RREHARER | TREIH A B 085400 |15 E 4= H il 376 |78.60 [76.22
Bl | TRRIm2ERE 085400 |HL 152 4= H il 365 [81.40 [75.52
sEMeRE | AR R 085400 |15 E 4= H il 354 [86.20 [75.42
) T2 2= Bt 085400 |HL 15 4= H il 361 [82.60 [75.32
5K 5t TREJH AR 085400 |15 E 4= H il 359 [82.80 [75.10
W | TR AR 085400 |[H TR 4= H 351 [86.20 [75.00
ViEly | TR AR 085400 |15 E 4= H il 359 |77.40 |73.48
T RN T 085400 |HL 152 4= H il 348 (81.80 [73.26
iR TREJH AR 085400 |15 E 4= H il 340 [84.00 [72.80
WRE I | TR AR 085400 |HL 152 4= H il 362 |71.60 [72.16
A Al TREJH AR 085400 |15 E 4= H il 362 |78.60 [71.46
N S AR A 085400 |HL 152 4= H il 335 [80.20 [70.96
2EH | TR 085400 |15 E 4= H il 372 [81.40 [70.90
ok | AR AR 085400 |[H TR 4= H 346 |74.40 [70.76
MR | TRRIm AR 085400 |15 E 4= H il 353 [70.60 [70.60
BfEM | AR AR 085400 [H TR 4= H 347 |(72.80 [70.42
FEFE | TR 085400 |15 E 4= H il 362 [80.40 [69.90
sk 5 | TREIM AR 085400 |[H TR 4= H 341 |[71.60 [69.22
FiERe | TREIM2ERE 085400 |15 E 4= H il 324 |77.20 [68.52
&N T2 2= Bt 085400 |HL 15 4= H il 342 [66.40 [67.80
AWZE | TR R 085400 |15 E 4 H il 329 [72.20 [67.72
f£5 TREI =Bt 085400 |[H TR 4= H 320 (74.20 |67.06
EEN A RN T 085400 |15 E 4= H il 328 [70.00 [66.92
WA | TR 085400 |HL 152 4= H il 359 [95.40 [78.88
e R ST 085400 |15 E 4= H il 371 |84.40 |77.26
XIS | AR B 085400 |HL 152 4= H il 363 [87.80 [77.16
7K 5% AN e 085400 [HT5E 4= H il 362 (86.40 [76.60
FRMN | LRI 085400 [H TR 4= H 377 |78.60 [76.36
X 1 TREJH AR 085400 |15 E 4= H il 357 [84.20 [75.24
e R I s 085400 |HL 152 4= H il 358 [83.20 [75.08
P TREJH AR 085400 |15 E 4= H il 354 [85.00 [75.06




" . BEIE |, . FREY |9 1B |HE R
i = T2 2= Bt 085400 |HL 152 4= H il 384 (70.40 [74.88
[ipn TREJH AR 085400 |15 E 4= H il 356 [83.40 [74.86
T EREET 085400 |HL 152 4= H il 365 [79.20 [74.86
Eve AR I EaT 085400 |15 E 4= H il 362 [80.60 [74.86
e | LREIRARR 085400 |[H TR 4= H 353 [84.80 [74.86
Y TREJH AR 085400 |15 E 4= H il 356 [83.00 [74.74
P | TR R 085400 |[H TR 4= H 357 (82.40 [74.70
B TREJH AR 085400 |15 E 4= H il 362 [79.80 [74.62
G R e 085400 |HL 15 4= H il 356 [82.60 [74.62
R | TR 085400 |15 E 4= H il 356 [82.40 [74.56
Wk | TAEIMEER 085400 |[H TR 4= H 370 |75.80 [74.54
TR | TREImER 085400 |15 E 4= H il 365 |77.80 |74.44
ek | TARIm AR 085400 |HL 152 4= H il 359 (83.60 [75.34
R TREJH AR 085400 |15 E 4= H il 353 [85.20 [74.98
+% T2 2= Bt 085400 |HL 152 4= H il 363 [79.80 [74.76
e | TR 085400 |15 E 4= H il 361 [79.60 [74.42
HOEH | TR 085400 |HL 152 4= H il 331 [92.00 [76.52
el | TR R 085400 |15 E 4= H il 391 [68.00 [74.12
EE T2 2= Bt 085400 |HL 152 4= H il 358 (77.00 [73.76
FEE | TR 085400 |15 E 4= H il 351 |77.00 [72.92
AT | TREIMER 085400 |HL 152 4= H il 354 (83.00 [73.28
HRoE | TRMER 085400 |15 E 4= H il 338 [80.00 [72.56
X% T2 2= Bt 085400 |HL 152 4= H il 346 [95.00 [79.52
I 2% TREJH AR 085400 |15 E 4= H il 343 [95.00 [79.16
EE | TR 085400 |HL 15 4= H il 343 [92.00 [77.96
VLERZS | AR A b 085400 |15 E 4 H il 346 [89.00 [77.12
TRt | TEMYR 085400 |HL 152 4= H il 360 [92.00 [76.40
& TREJH AR 085400 |15 E 4= H il 340 [83.00 [74.00
FE | TR 085400 |HL 152 4= H il 328 [86.00 [73.76
ZuA | TR 085400 |15 E 4= H il 387 [68.00 [73.64
BowoRk | TREIM R 085400 |HL 152 4= H il 359 (74.00 [72.68
R E | TR ERR 085400 |15 E 4= H il 346 |77.00 [72.32
SRS T2 2= Bt 085400 |HL 152 4= H il 336 [80.00 [72.32
Wi | TR R 085400 |15 E 4= H il 339 [74.00 [70.28
Mg | LREIm AR 085400 |[HTEE 4= H 367 [93.60 [79.46
S | TR 085400 |15 E 4= H il 367 [93.00 [79.28




" . BEIE |, . FREY |9 1B |HE R
KR | TR B 085400 |HL 152 4= H il 367 [90.20 [78.44
Jii M TREJH AR 085400 |15 E 4= H il 368 [89.20 [78.28
R RN e 085400 |HL 152 4= H il 360 [88.80 [77.04
it | TRImER 085400 |15 E 4= H il 351 |91.40 [76.56
JBE T T2 2= Bt 085400 |HL 152 4= H il 371 [81.00 [76.24
VYL [ TR 085400 |15 E 4= H il 345 [92.80 [76.14
B LRI =Bt 085400 |[H TR 4= H 370 [79.20 [75.56
T E A R S 085400 |15 E 4= H il 352 [87.40 [75.50
ERARIR | TR B 085400 |HL 15 4= H il 356 [85.00 [75.34
BEZE | TR AR 085400 [HT5E 4= H il 361 (80.60 [74.72
¥E K | TR 085400 |[H TR 4= H 347 (81.20 [72.94
Wocts | TR R 085400 |15 E 4= H il 370 |70.40 [67.32
AR T2 2= Bt 085400 |HL 152 4 H4%] 430 [95.17 [88.75
EN RIS 085400 |15 E 4= H il 364 [88.17 [77.41
S R e 085400 |HL 152 4= H il 373 |76.67 |75.22
JeA e | TR R 085400 |15 E 4= H il 349 [83.17 [73.81
skl | TREIm R 085400 |HL 152 4= H il 354 (80.33 [73.66
WElgE | TR R 085400 |15 E 4= H il 337 [83.67 [72.28
WEEE | TR R 085500 |HLHK 4Hi#  [422 [81.00 [83.38
M | TRRIm2ERE 085500 |#LHK 4 H%l  |408 [80.20 [81.18
X T2 2= Bt 085500 |HLHK 4= H 385 (79.64 [77.92
ZEEM, | TR 085500 |#LHk 4= H 367 [81.71 [76.31
RERE | TR 085500 |HLHK 4= H 355 (85.60 [76.11
KE | TR 085500 [#HLHK 4= H il 377 |77.33 |76.08
iEXBH T2 2= Bt 085500 |HLHK 4= H 381 [75.20 [75.85
KE TREJH AR 085500 |#LHK 4= H 376 |75.57 |75.33
W | AR 085500 |HLHK 4= H 351 [84.67 [75.26
X Z TREJH AR 085500 |#LHK 4= H 373 |76.12 [75.13
DO | TR B 085500 |HLHK 4= H 373 [73.60 [74.30
DES I AN e 085500 |#LHk 4= H 352 [78.80 [72.92
St tH T2 2= Bt 085500 |HLHK 4= H 356 [66.20 [69.70
TR | TRRIm AR 085500 |[#LHk 4= H 348 [79.33 [72.52
EVEA | TR 085500 |HLHK 4= H 335 (78.00 [70.30
BIGE | TR R 085500 |#LHK 4= H 395 [87.80 [82.08
MRE | TREIWERE 085500 |HLHK 4= H 388 [86.00 [80.54
B | TR AR 085500 |#LHK 4= H 367 [82.40 |76.55




" . BEIE |, . FREY |9 1B |HE R
EEY RN e 085500 [HLiH 4= H il 359 [82.50 [75.55
i, | TAEIM R 085500 |#LHK 4= H 370 |75.83 |74.64
a4 | TREIMER 085500 |HLHK 4= H 372 |74.60 |74.47
R RN e 085500 [#HLHK 4= H il 358 [79.60 |74.40
Zpir | TREIMER 085500 |HLHK 4= H 357 (79.80 [74.34
R TREJH AR 085500 |[#LHk 4= H 360 [87.40 [74.14
S SRR EST 085500 [HLiH 4= H il 342 183.00 [73.51
T R A 085500 |#LHK 4= H 356 |76.50 [73.06
Z0hEE | TR AR 085500 |HLHK 4= H 362 (73.80 [72.89
Z% TREJH AR 085500 |#LHK 4= H 394 |76.00 [77.96
XNAE | AR B 085500 |HLHK 4= H 376 [68.50 [72.86
Wi | TR 085500 |#LHK 4= H 365 [72.29 [72.75
SR | TREIRARR 085500 [HLiH 4= H il 363 [72.57 [72.59
MEs | TR 085500 |[#LHk 4= H 358 [73.33 [72.21
RN eI 085500 [HLiH 4= H il 382 |[72.68 [75.10
ARE b | AR AR 085500 |[#LHk 4= H 364 |77.57 |74.47
EF R 085500 |HLHK 4= H 373 [78.57 [75.99
HI 7 | TRRIH AR 085500 |#LHK 4= H 355 |81.50 [74.68
Aet: TREI =Bt 085500 [HLiH 4= H il 344 (84.80 [74.40
e | TR R 085500 |#LHK 4= H 363 |77.33 [74.26
SRR | TR AR 085500 |HLHK 4= H 337 [87.00 [74.26
yEsR | TR R 085500 |#LHk 4= H 342 [84.60 [74.07
FTE&ER | TREIMYR 085500 |HLHK 4= H 381 [70.00 [74.03
X1 | TREIMER 085500 |#LHK 4= H i 368 [74.29 [73.84
ez pk | TR 2E B 085500 [HLiH 4= H il 340 (84.40 [73.74
i TREJH AR 085500 |#LHK 4= H 373 |71.50 [73.52
e G RN S e 085500 |HLHK 4= H 343 (82.40 [73.43
HEYTHE | TR 085500 |#LHK 4= H 342 [82.50 [73.34
TR | TAEIRARR 085500 [HLiH 4= H il 341 (82.40 [73.17
sEMeRE | TREIM R 085500 |#LHk 4= H 377 [90.00 [79.78
W | TREIm R 085500 |HLHK 4= H 322 (70.00 [66.08
X3k AN e 085600 |# Kl 51k T 4= H il 410 |76.40 |80.32
FEE | TAEIMYR 085600 |#1Kl 51k T 4= H il 384 (88.40 [80.28
KRPAAS | TREIME R 085600 |# Kl 51k T 4= H il 382 (87.80 [79.82
XNFERE | TR B 085600 |#1Kl 51k T 4 H4%] (403 [76.40 [79.34
IEE | TR 085600 |# Kl 51k T 4= H il 394 (80.40 [79.28
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" . BEIE |, . FREY |9 1B |HE R
v | TRRIm AR 085600 |#1kl 51k T 4= H il 388 [82.80 [79.16
X FF AN e 085600 |#1 Kl 51k T 4= H il 399 (76.40 [78.78
o V5 T2 2= Bt 085600 |#1Kl 51k T 4= H il 387 [81.60 [78.66
EE R ES 085600 |#1 Kl 51k T 4= H il 393 (83.20 [79.98
MEERE | TR AR 085600 |#1kl 51k T 4= H il 389 (84.00 [79.66
Wk | TREA R 085600 |# Kl 51k T 4= H il 377 [87.20 |78.94
R T2 2= Bt 085600 |#1kl 51k T 4 H4%]  |404 [80.40 [80.68
N | TRERARE 085600 |#1kl 51k T 4= H il 400 [81.60 |80.48
B RN S e 085600 |#1kl 51k T 4= H il 386 [86.80 [80.08
Tk | TR AR 085600 |# Kl 51k T 4= H il 367 [93.90 [79.55
[R5 T2 2= Bt 085600 |#1Kl 51k T 4= H il 368 [92.80 [79.36
TRV | TR 085600 |#1 Kl 51k T 4= H il 370 [91.00 [79.10
Gl | TR 085600 |#1kl 51k T 4= H il 360 [95.40 [79.02
¥ H AN ET 085600 |#1 Kl 51k T 4= H il 353 [97.50 [78.67
Wi T2 2= Bt 085600 |#1kl 51k T 4= H il 360 [92.00 [78.00
Yritay | TREIA R 085600 |# Kl 51k T 4= H il 374 (83.40 [77.38
VEREEG | AR AR 085600 |[#1kl 54k T 4= H 368 [85.00 [77.02
frdam | TR 085600 |# Kl 51k T 4= H il 359 (89.00 [76.96
Bk | TREIMR 085600 |#1Kl 51k T 4= H il 347 [93.80 [76.72
BB AN e 085600 |#1 Kl 51k T 4= H il 344 (94.20 |76.42
N TREI =Bt 085600 |[#1kl 546 T 4= H 358 [87.60 [76.40
MR | LREIm AR 085600 |#1 Kl 51k T 4= H il 363 [84.80 [76.26
GRE | TREIMYR 085600 |#1kl 51k T 4= H il 354 (88.30 [76.05
ENE BN S NE 085600 |#1kl 51k T 4= H il 353 (88.00 [75.82
BRIE | TRAEmER 085600 |#1kl 51k T 4= H il 346 [90.70 [75.65
A | TR 085600 |#4 Kl 54k T 4 H il 334 [95.80 [75.50
PANT | TREIMR 085600 |#1Kl 51k T 4= H il 357 [84.40 [75.30
K it AN e 085600 |#1 Kl 51k T 4= H il 353 [86.00 [75.22
BN AR ES 085600 |[#1kl 546 T 4= H 353 [85.40 [75.04
S| TR AR 085600 |#1 Kl 51k T 4= H il 355 [84.00 [74.90
2 T2 2= Bt 085600 |#1Kl 51k T 4= H il 339 (90.80 [74.70
RERRN | TREIM AR 085600 |# Kl 51k T 4= H il 366 |[78.00 |74.64
B | TR AR 085600 |#1Kl 51k T 4= H il 346 (86.50 [74.39
SHeTE | TR AARR 085600 |# Kl 51k T 4= H il 354 (80.80 [73.80
Dedt | TAEImAR 085600 |#1Kl 51k T 4= H il 350 [81.00 [73.30
E Y RN I NES 085600 |# Kl 51k T 4= H il 368 |[72.00 [73.12

%133 7, 157 I




" . BEIE |, . FREY |9 1B |HE R
BV | TR AAR 085600 |#1kl 51k T 4= H il 340 [84.00 [72.80
RIS | TREIMERE 085600 |#1 Kl 51k T 4= H il 349 (78.20 [72.32
FR | TR 085600 |#1Kl 51k T 4= H il 336 [84.20 [72.30
iSRRI ES 085600 |#1 Kl 51k T 4= H il 365 [92.10 [78.73
B i T2 2= Bt 085600 |#1kl 51k T 4= H il 369 [89.40 [78.48
AL | TRER2ARE 085600 |# Kl 51k T 4= H il 374 (80.20 |76.42
fih T2 2= Bt 085600 |#1kl 51k T 4= H il 367 [98.40 [80.90
5K I AN e 085600 |#1kl 51k T 4= H il 349 (97.00 [77.96
T RN e 085600 |#1kl 51k T 4= H il 360 [90.60 [77.58
KFEE | TR 085600 |# Kl 51k T 4= H il 369 (85.00 [77.16
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